

**State of Florida
Department of Transportation**



INVITATION TO BID
High Visibility & Safety Apparel

DOT-ITB-26-9003-DG

EFFECTIVE DATES

February 13, 2026 - February 12, 2029

VENDORS

Florida Gun Center of Broward - CR1325

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

HIGH VISIBILITY & SAFETY APPAREL PRICING PAGES

All High Visibility items must be ANSI/ISEA compliant:

ANSI: American National Standards Institute / ISEA: International Safety Equipment Association

Items should be class 2, 3 or E as specified. Apparel that is not Hi-Vis will not be required to meet the Class: 2, 3 or E requirements.

PRINTING & EMBROIDERY IS NOT INCLUDED IN THE AWARD PRICE EVALUATION BUT WILL BE A PART OF THE CONTRACT!

PRINTING & EMBROIDERY MUST BE AVAILABLE FROM VENDOR BIDDING AND MUST BE AVAILABLE FOR ALL ITEMS EXCEPT WHERE STATED. Please state in the bid any item that can't be printed, embroidered or both due to the style of the item, etc. and explain why.

* **Minimum Order:** We will attempt to order in minimum quantities when possible; however, due to several factors the Warehouses will order on an as needed basis in the quantities needed. Minimum order quantities will include the same item style, but with a mixture of sizes. If the vendor cannot handle the mixture of sizes for the minimum order, please state in bid. Large minimum quantities will not be accepted.

Estimated Purchases: An estimated dollar amount has been given based on usage for the past year.

****Estimated Quantities** have been given for evaluation purposes only. This amount is not a guideline for past usage and should not be used for figuring bid prices.

USERS PLACING ORDERS: ORDER BY THE BRAND AND ITEM #, NOT THE DOT #. THE VENDORS DO NOT HAVE THE NUMBERS TO CROSS REFERENCE. THE DOT #'S ARE USED FOR MSI SYSTEM ONLY.

NOTE TO CONTRACT USERS:

High visibility items are considered safety items.

Colors other than the high visibility orange or lime will need to have statutory authority and upper management approval to purchase. In most of these cases items purchased will also require a perquisite.

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

VESTS: High Visibility

- 1) Hi-Vis Zipper closure Two-Tone Vest, 2”silver tape reflective material and 1 horizontal stripe with contrasting trim detail. Pockets: upper split pad/pencil, upper radio/phone, 2 lower flaps covered, 2 large deep open inside, 1 inside flashlight and mic tab on both shoulders. Style: Surveyor, Color: Available in Lime and Orange, ANSI/ISEA Class: 3 / Type R.

RADIANS SV63G10

Brand & Item # of Vest

2 X

Min. Order * YES NO
Does product meet the specifications?

Item #1: Safety Vest						
Zipper Closure 2-tone Vest / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV63G	5	\$15.50	\$77.50
		Orange	RADIANS SV63O	5	\$15.50	\$77.50
	Medium	Lime	RADIANS SV63G	10	\$15.50	\$155.00
		Orange	RADIANS SV63O	10	\$15.50	\$155.00
	Large	Lime	RADIANS SV63G	20	\$15.50	\$310.00
		Orange	RADIANS SV63O	20	\$15.50	\$310.00
	X-large	Lime	RADIANS SV63G	30	\$15.50	\$465.00
		Orange	RADIANS SV63O	30	\$15.50	\$465.00
	2XL	Lime	RADIANS SV63G	30	\$15.50	\$465.00
		Orange	RADIANS SV63O	30	\$15.50	\$465.00
	3XL	Lime	RADIANS SV63G	20	\$15.50	\$310.00
		Orange	RADIANS SV63O	20	\$15.50	\$310.00
	4XL	Lime	RADIANS SV63G	10	\$15.50	\$155.00
		Orange	RADIANS SV63O	10	\$15.50	\$155.00
	5XL	Lime	RADIANS SV63G	5	\$15.50	\$77.50
		Orange	RADIANS SV63GO	5	\$15.50	\$77.50
Sub-Total of Item #1						\$4,030.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 2) Hi-Vis Zipper closure Two-Tone Economy Vest, 100% polyester mesh. 2” silver tape reflective material and 1 horizontal stripe with contrasting strip detail. Pockets: 1 upper left front and 1 lower right inside. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 3 / Type R.

RADIANS SV22-3ZGM/OM

Brand & Item # of Vest

2 X

Min. Order * **YES** **NO**
Does product meet the specifications?

Item #2: Safety Vest						
Zipper Closure 2-Tone Economy Vest / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV22-3ZGM	5	\$10.98	\$54.90
		Orange	RADIANS SV22-3ZOM	5	\$10.98	\$54.90
	Medium	Lime	RADIANS SV22-3ZGM	10	\$10.98	\$109.80
		Orange	RADIANS SV22-3ZOM	10	\$10.98	\$109.80
	Large	Lime	RADIANS SV22-3ZGM	20	\$10.98	\$219.60
		Orange	RADIANS SV22-3ZOM	20	\$10.98	\$219.60
	X-large	Lime	RADIANS SV22-3ZGM	30	\$10.98	\$329.40
		Orange	RADIANS SV22-3ZOM	30	\$10.98	\$329.40
	2XL	Lime	RADIANS SV22-3ZGM	30	\$10.98	\$329.40
		Orange	RADIANS SV22-3ZOM	30	\$10.98	\$329.40
	3XL	Lime	RADIANS SV22-3ZGM	20	\$10.98	\$219.60
		Orange	RADIANS SV22-3ZOM	20	\$10.98	\$219.60
	4XL	Lime	RADIANS SV22-3ZGM	10	\$10.98	\$109.80
		Orange	RADIANS SV22-3ZOM	10	\$10.98	\$109.80
	5XL	Lime	RADIANS SV22-3ZGM	5	\$10.98	\$54.90
		Orange	RADIANS SV22-3ZOM	5	\$10.98	\$54.90
Sub-Total of Item #2						\$2,854.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 3) Hi-Vis Zipper closure Two-tone Surveyor Vest, 2" silver tape reflective material and 1 horizontal stripe with contrasting trim detail, mic tabs on both shoulders. Pockets: upper split pad / pencil, upper with clear badge holder, 2 lower flaps covered outside, 2 large deep open inside, 1 inside flashlight, 100% polyester mesh. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 2 / Type R.

RAIDIANS_SV6-2ZGM/OM

Brand & Item # of Vest

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #3: Safety Vest						
Zipper Closure 2-Tone Surveyor Vest / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS_SV6-2ZGM	5	\$10.98	\$54.90
		Orange	RADIANS_SV6-2ZOM	5	\$10.98	\$54.90
	Medium	Lime	RADIANS_SV6-2ZGM/OM	10	\$10.98	\$109.80
		Orange	RADIANS_SV6-2ZGM/OM	10	\$10.98	\$109.80
	Large	Lime	RADIANS_SV6-2ZGM/OM	20	\$10.98	\$219.60
		Orange	RADIANS_SV6-2ZGM/OM	20	\$10.98	\$219.60
	X-large	Lime	RADIANS_SV6-2ZGM/OM	30	\$10.98	\$329.40
		Orange	RADIANS_SV6-2ZGM/OM	30	\$10.98	\$329.40
	2XL	Lime	RADIANS_SV6-2ZGM/OM	30	\$10.98	\$329.40
		Orange	RADIANS_SV6-2ZGM/OM	30	\$10.98	\$329.40
	3XL	Lime	RADIANS_SV6-2ZGM/OM	20	\$10.98	\$219.60
		Orange	RADIANS_SV6-2ZGM/OM	20	\$10.98	\$219.60
	4XL	Lime	RADIANS_SV6-2ZGM/OM	10	\$10.98	\$109.80
		Orange	RADIANS_SV6-2ZGM/OM	10	\$10.98	\$109.80
	5XL	Lime	RADIANS_SV6-2ZGM/OM	5	\$10.98	\$54.90
		Orange	RADIANS_SV6-2ZGM/OM	5	\$10.98	\$54.90
Sub-Total of Item #3						\$2,854.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 4) Hi-Vis Zipper closure Two-Tone Surveyor Economy Vest, 2” silver tape reflective material and 1 horizontal stripe with contrasting trim detail, made of 100% polyester mesh. Pockets: 12 upper left front and 1 lower right inside. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 2 / Type R.

RADIANS SV22-2Z

Brand & Item # of Vest

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #4: Safety Vest						
Zipper Closure 2-Tone Surveyor Vest / Economy / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV22-2ZGM	5	\$7.50	\$37.50
		Orange	RADIANS SV22-2ZOM	5	\$7.50	\$37.50
	Medium	Lime	RADIANS SV22-2ZGM	10	\$7.50	\$75.00
		Orange	RADIANS SV22-2ZOM	10	\$7.50	\$75.00
	Large	Lime	RADIANS SV22-2ZGM	20	\$7.50	\$150.00
		Orange	RADIANS SV22-2ZOM	20	\$7.50	\$150.00
	X-large	Lime	RADIANS SV22-2ZGM	30	\$7.50	\$225.00
		Orange	RADIANS SV22-2ZOM	30	\$7.50	\$225.00
	2XL	Lime	RADIANS SV22-2ZGM	30	\$7.50	\$225.00
		Orange	RADIANS SV22-2ZOM	30	\$7.50	\$225.00
	3XL	Lime	RADIANS SV22-2ZGM	20	\$7.50	\$150.00
		Orange	RADIANS SV22-2ZOM	20	\$7.50	\$150.00
	4XL	Lime	RADIANS SV22-2ZGM	10	\$7.50	\$75.00
		Orange	RADIANS SV22-2ZOM	10	\$7.50	\$75.00
	5XL	Lime	RADIANS SV22-2ZGM	5	\$7.50	\$37.50
		Orange	RADIANS SV22-2ZOM	5	\$7.50	\$37.50
Sub-Total of Item #4						\$1,950.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 5) Hi-Vis Dual-Sized Expandable Chevron Vest has 2” and 1-1/2” 3M Reflexite prismatic tape. Hook and loop closures and expandable side panels for adjustable sizing. Style: Chevron, Color: Available in Lime or Orange, ANSI/ISEA Class: 2 / Garment Type P.

OCCUNOMIX LUX-SSCHCGL

Brand & Item # of Vest

2 X

Min. Order * YES NO

Does product meet the specifications?

Item #5: Safety Vest						
Dual-Sized Expandable Chevron Vest / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	OCCUNOMIX LUX-SSCHCGL	5	\$14.92	\$74.58
		Orange	OCCUNOMIX LUX-SSCHCGL	5	\$14.92	\$74.58
	Medium	Lime	OCCUNOMIX LUX-SSCHCGL	10	\$14.92	\$149.20
		Orange	OCCUNOMIX LUX-SSCHCGL	10	\$14.92	\$149.20
	Large	Lime	OCCUNOMIX LUX-SSCHCGL	20	\$14.92	\$298.40
		Orange	OCCUNOMIX LUX-SSCHCGL	20	\$14.92	\$298.40
	X-large	Lime	OCCUNOMIX LUX-SSCHCGL	30	\$14.92	\$447.60
		Orange	OCCUNOMIX LUX-SSCHCGL	30	\$14.92	\$447.60
	2XL	Lime	OCCUNOMIX LUX-SSCHCGL	30	\$14.92	\$447.60
		Orange	OCCUNOMIX LUX-SSCHCGL	30	\$14.92	\$447.60
	3XL	Lime	OCCUNOMIX LUX-SSCHCGL	20	\$14.92	\$298.40
		Orange	OCCUNOMIX LUX-SSCHCGL	20	\$14.92	\$298.40
	4XL	Lime	OCCUNOMIX LUX-SSCHCGL	10	\$14.92	\$149.20
		Orange	OCCUNOMIX LUX-SSCHCGL	10	\$14.92	\$149.20
	5XL	Lime	OCCUNOMIX LUX-SSCHCGL	5	\$14.92	\$74.58
		Orange	OCCUNOMIX LUX-SSCHCGL	5	\$14.92	\$74.58
Sub-Total of Item #5						\$3,879.20

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 6) Hi-Vis Zipper closure Standard Vest, for enhanced nighttime visibility. 2” silver tape reflective material. Pockets: 4 inside and 2 outside. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 3 / Garment Type R.

RADIANS SV232-3Z

Brand & Item # of Vest

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #6: Safety Vest						
Zipper Closure Standard Vest / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV232-3Z	5	\$12.98	\$64.90
		Orange	RADIANS SV232-3Z	5	\$12.98	\$64.90
	Medium	Lime	RADIANS SV232-3Z	10	\$12.98	\$129.80
		Orange	RADIANS SV232-3Z	10	\$12.98	\$129.80
	Large	Lime	RADIANS SV232-3Z	20	\$12.98	\$259.60
		Orange	RADIANS SV232-3Z	20	\$12.98	\$259.60
	X-large	Lime	RADIANS SV232-3Z	30	\$12.98	\$389.40
		Orange	RADIANS SV232-3Z	30	\$12.98	\$389.40
	2XL	Lime	RADIANS SV232-3Z	30	\$12.98	\$389.40
		Orange	RADIANS SV232-3Z	30	\$12.98	\$389.40
	3XL	Lime	RADIANS SV232-3Z	20	\$12.98	\$259.60
		Orange	RADIANS SV232-3Z	20	\$12.98	\$259.60
	4XL	Lime	RADIANS SV232-3Z	10	\$12.98	\$129.80
		Orange	RADIANS SV232-3Z	10	\$12.98	\$129.80
	5XL	Lime	RADIANS SV232-3Z	5	\$12.98	\$64.90
		Orange	RADIANS SV232-3Z	5	\$12.98	\$64.90
Sub-Total of Item #6						\$3,374.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 7) Hi-Vis Economy Vest with hook and loop closure, 2" silver tape reflective material and 1 horizontal stripe, made with 100% polyester mesh. Pockets: 2-front. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 2 / Garment Type R.

RADIANS SV2GM/OM

Brand & Item # of Vest

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #7: Safety Vest						
Economy Vest with Hook and Loop Closure / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV2GM	5	\$4.98	\$24.90
		Orange	RADIANS SV2OM	5	\$4.98	\$24.90
	Medium	Lime	RADIANS SV2GM	10	\$4.98	\$49.80
		Orange	RADIANS SV2OM	10	\$4.98	\$49.80
	Large	Lime	RADIANS SV2GM	20	\$4.98	\$99.60
		Orange	RADIANS SV2OM	20	\$4.98	\$99.60
	X-large	Lime	RADIANS SV2GM	30	\$4.98	\$149.40
		Orange	RADIANS SV2OM	30	\$4.98	\$149.40
	2XL	Lime	RADIANS SV2GM	30	\$4.98	\$149.40
		Orange	RADIANS SV2OM	30	\$4.98	\$149.40
	3XL	Lime	RADIANS SV2GM	20	\$4.98	\$99.60
		Orange	RADIANS SV2OM	20	\$4.98	\$99.60
	4XL	Lime	RADIANS SV2GM	10	\$4.98	\$49.80
		Orange	RADIANS SV2OM	10	\$4.98	\$49.80
	5XL	Lime	RADIANS SV2GM	5	\$4.98	\$24.90
		Orange	RADIANS SV2OM	5	\$4.98	\$24.90
Sub-Total of Item #7						\$1,294.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 8) Hi-Vis Breakaway vest with Zip-N-Rip closure at shoulders, sides and front zipper closure to break-a-way when tugged with moderate force, solid front and mesh back. Contrast trim combinations to help make workers more visible during low light and broad daylight conditions. Pockets: upper split pad/pencil, upper radio/phone, 2 lower flap covered pockets, 2 large deep open inside and 1 inside flashlight pocket. Style: Breakaway, Color: Available in Lime and Orange, ANSI/ISEA Class: 2 / Garment Type R.

RADIANS SV46G/O

Brand & Item # of Vest

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #8: Safety Vest						
Break-a-way Vest / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV46G/O	5	\$16.98	\$84.90
		Orange	RADIANS SV46G/O	5	\$16.98	\$84.90
	Medium	Lime	RADIANS SV46G/O	10	\$16.98	\$169.80
		Orange	RADIANS SV46G/O	10	\$16.98	\$169.80
	Large	Lime	RADIANS SV46G/O	20	\$16.98	\$339.60
		Orange	RADIANS SV46G/O	20	\$16.98	\$339.60
	X-large	Lime	RADIANS SV46G/O	30	\$16.98	\$509.40
		Orange	RADIANS SV46G/O	30	\$16.98	\$509.40
	2XL	Lime	RADIANS SV46G/O	30	\$16.98	\$509.40
		Orange	RADIANS SV46G/O	30	\$16.98	\$509.40
	3XL	Lime	RADIANS SV46G/O	20	\$16.98	\$339.60
		Orange	RADIANS SV46G/O	20	\$16.98	\$339.60
	4XL	Lime	RADIANS SV46G/O	10	\$16.98	\$169.80
		Orange	RADIANS SV46G/O	10	\$16.98	\$169.80
	5XL	Lime	RADIANS SV46G/O	5	\$16.98	\$84.90
		Orange	RADIANS SV46G/O	5	\$16.98	\$84.90
Sub-Total of Item #8						\$4,414.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

- 9) Hi-Vis Two-Tone vest with a chevron reflective back, combined with the two-tone trim. Vest should be available in both Hi-VIs Lime and orange with the opposite color of the base as the trim. Adjustable Velcro sides to allow for better fit and use over other garments when needed. Pockets: 1 inside and 1 outside as a pen/radio pocket. Style: Two-Tone, Color: Available in Lime and Orange, ANSI/ISEA Class: 2 / Garment Type R.

RADIANS SV22X-2ZGM/OM

Brand & Item # of Vest

2 X
Min. Order * **YES** **NO**
Does product meet the specifications?

Item #9: Safety Vest						
Two-Tone Vest with Chevron Reflective Back / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV22X-2ZGM	5	\$8.98	\$44.90
		Orange	RADIANS SV22X-2ZOM	5	\$8.98	\$44.90
	Medium	Lime	RADIANS SV22X-2ZGM	10	\$8.98	\$89.80
		Orange	RADIANS SV22X-2ZOM	10	\$8.98	\$89.80
	Large	Lime	RADIANS SV22X-2ZGM	20	\$8.98	\$179.60
		Orange	RADIANS SV22X-2ZOM	20	\$8.98	\$179.60
	X-large	Lime	RADIANS SV22X-2ZGM	30	\$8.98	\$269.40
		Orange	RADIANS SV22X-2ZOM	30	\$8.98	\$269.40
	2XL	Lime	RADIANS SV22X-2ZGM	30	\$8.98	\$269.40
		Orange	RADIANS SV22X-2ZOM	30	\$8.98	\$269.40
	3XL	Lime	RADIANS SV22X-2ZGM	20	\$8.98	\$179.60
		Orange	RADIANS SV22X-2ZOM	20	\$8.98	\$179.60
	4XL	Lime	RADIANS SV22X-2ZGM	10	\$8.98	\$89.80
		Orange	RADIANS SV22X-2ZOM	10	\$8.98	\$89.80
	5XL	Lime	RADIANS SV22X-2ZGM	5	\$8.98	\$44.90
		Orange	RADIANS SV22X-2ZOM	5	\$8.98	\$44.90
Sub-Total of Item #9						\$2,334.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

11) Hi-Vis Zipper closure Economy Vest, 2” Silver Reflective tape and 1 horizontal stripe with contrasting trim detail, made with 100% polyester mesh. Pockets: 1 upper left front chest and 1 lower right inside. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 3 / Garment Type R.

RADIANS SV22-3ZGM/OM

Brand & Item # of Vest

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #11: Safety Vest						
Zipper Closure Economy Vest / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV22-3ZGM/OM	5	\$10.98	\$54.90
		Orange	RADIANS SV22-3ZGM/OM	5	\$10.98	\$54.90
	Medium	Lime	RADIANS SV22-3ZGM/OM	10	\$10.98	\$109.80
		Orange	RADIANS SV22-3ZGM/OM	10	\$10.98	\$109.80
	Large	Lime	RADIANS SV22-3ZGM/OM	20	\$10.98	\$219.80
		Orange	RADIANS SV22-3ZGM/OM	20	\$10.98	\$219.80
	X-large	Lime	RADIANS SV22-3ZGM/OM	30	\$10.98	\$329.40
		Orange	RADIANS SV22-3ZGM/OM	30	\$10.98	\$329.40
	2XL	Lime	RADIANS SV22-3ZGM/OM	30	\$10.98	\$329.40
		Orange	RADIANS SV22-3ZGM/OM	30	\$10.98	\$329.40
	3XL	Lime	RADIANS SV22-3ZGM/OM	20	\$10.98	\$219.60
		Orange	RADIANS SV22-3ZGM/OM	20	\$10.98	\$219.60
	4XL	Lime	RADIANS SV22-3ZGM/OM	10	\$10.98	\$109.80
		Orange	RADIANS SV22-3ZGM/OM	10	\$10.98	\$109.80
	5XL	Lime	RADIANS SV22-3ZGM/OM	5	\$10.98	\$54.90
		Orange	RADIANS SV22-3ZGM/OM	5	\$10.98	\$54.90
Sub-Total of Item #11						\$2,854.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

12) Hi-Vis Zipper closure Economy Two-Tone Vest with adjustable sides, 2” silver tape reflective and 1 horizontal stripe, made with 100% polyester mesh, mic tabs on both shoulders with a clear badge holder on chest. Pockets: 2-upper chest, 1 upper split pencil, and 2 lower inside pockets. Style: Economy, Color: Available in Lime and Orange, ANSI/ISEA Class: 2 / Garment Type R.

RADIANS SV23-2ZGM/OM

Brand & Item # of Vest

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #12: Safety Vest						
Zipper Closure Economy 2-Tone Vest with Adjustable Sides / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SV23-2ZGM/OM	5	\$14.98	\$74.90
		Orange	RADIANS SV23-2ZGM/OM	5	\$14.98	\$74.90
	Medium	Lime	RADIANS SV23-2ZGM/OM	10	\$14.98	\$149.80
		Orange	RADIANS SV23-2ZGM/OM	10	\$14.98	\$149.80
	Large	Lime	RADIANS SV23-2ZGM/OM	20	\$14.98	\$299.60
		Orange	RADIANS SV23-2ZGM/OM	20	\$14.98	\$299.60
	X-large	Lime	RADIANS SV23-2ZGM/OM	30	\$14.98	\$449.40
		Orange	RADIANS SV23-2ZGM/OM	30	\$14.98	\$449.40
	2XL	Lime	RADIANS SV23-2ZGM/OM	30	\$14.98	\$449.40
		Orange	RADIANS SV23-2ZGM/OM	30	\$14.98	\$449.40
	3XL	Lime	RADIANS SV23-2ZGM/OM	20	\$14.98	\$299.60
		Orange	RADIANS SV23-2ZGM/OM	20	\$14.98	\$299.60
	4XL	Lime	RADIANS SV23-2ZGM/OM	10	\$14.98	\$149.80
		Orange	RADIANS SV23-2ZGM/OM	10	\$14.98	\$149.80
	5XL	Lime	RADIANS SV23-2ZGM/OM	5	\$14.98	\$74.90
		Orange	RADIANS SV23-2ZGM/OM	5	\$14.98	\$74.90
Sub-Total of Item #12						\$3,894.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

SHIRTS: High Visibility
(Other colors may be available for non-safety purposes.)

13) Hi-Vis Safety T-shirt made with an arid Birdseye Mesh allowing for maximum breathability, without compromising durability. The 2” stripes across the chest and back are adhered by heat transfer rather than sewn on. The front pocket does not include reflective material to allow for logo imprints. Made with 100% wicking polyester mesh (MAX-DR1), minimum 25 washes. Available in Short Sleeves. Available in Lime and Orange, ANSI Class: 2 / Type R.

RADIANS ST11-2PG/OS

Brand & Item # of T-Shirt

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #13: Safety Shirts						
Birdseye Mesh T-Shirt / Short Sleeves / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS ST1 1-2PGS/OS	5	\$10.98	\$54.90
		Orange	RADIANS ST1 1-2PGS/OS	5	\$10.98	\$54.90
	Medium	Lime	RADIANS ST1 1-2PGS/OS	10	\$10.98	\$109.80
		Orange	RADIANS ST1 1-2PGS/OS	10	\$10.98	\$109.80
	Large	Lime	RADIANS ST1 1-2PGS/OS	20	\$10.98	\$219.60
		Orange	RADIANS ST1 1-2PGS/OS	20	\$10.98	\$219.60
	X-large	Lime	RADIANS ST1 1-2PGS/OS	30	\$10.98	\$329.40
		Orange	RADIANS ST1 1-2PGS/OS	30	\$10.98	\$329.40
	2XL	Lime	RADIANS ST1 1-2PGS/OS	30	\$10.98	\$329.40
		Orange	RADIANS ST1 1-2PGS/OS	30	\$10.98	\$329.40
	3XL	Lime	RADIANS ST1 1-2PGS/OS	20	\$10.98	\$219.60
		Orange	RADIANS ST1 1-2PGS/OS	20	\$10.98	\$219.60
	4XL	Lime	RADIANS ST1 1-2PGS/OS	10	\$10.98	\$109.80
		Orange	RADIANS ST1 1-2PGS/OS	10	\$10.98	\$109.80
	5XL	Lime	RADIANS ST1 1-2PGS/OS	5	\$10.98	\$54.90
		Orange	RADIANS ST1 1-2PGS/OS	5	\$10.98	\$54.90
Sub-Total of Item #13						\$2,854.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

14) Hi-Vis Safety T-shirt made with an arid Birdseye Mesh allowing for maximum breathability, without compromising durability. The 2” stripes across the chest and back are adhered by heat transfer rather than sewn on. The front pocket does not include reflective material to allow for logo imprints. Made with 100% wicking polyester mesh (MAX-DR1), minimum 25 washes. Available in Long Sleeves. Available in Lime and Orange, ANSI Class: 3 / Type R.

RADIANS ST21-3PGS/POS

Brand & Item # of T-Shirt

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #14: Safety Shirt						
Birdseye Mesh T-Shirt / Long Sleeves / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS ST21-3PGS/POS	5	\$16.98	\$84.90
		Orange	RADIANS ST21-3PGS/POS	5	\$16.98	\$84.90
	Medium	Lime	RADIANS ST21-3PGS/POS	10	\$16.98	\$169.80
		Orange	RADIANS ST21-3PGS/POS	10	\$16.98	\$169.80
	Large	Lime	RADIANS ST21-3PGS/POS	20	\$16.98	\$339.60
		Orange	RADIANS ST21-3PGS/POS	20	\$16.98	\$339.60
	X-large	Lime	RADIANS ST21-3PGS/POS	30	\$16.98	\$509.40
		Orange	RADIANS ST21-3PGS/POS	30	\$16.98	\$509.40
	2XL	Lime	RADIANS ST21-3PGS/POS	30	\$16.98	\$509.40
		Orange	RADIANS ST21-3PGS/POS	30	\$16.98	\$509.40
	3XL	Lime	RADIANS ST21-3PGS/POS	20	\$16.98	\$339.60
		Orange	RADIANS ST21-3PGS/POS	20	\$16.98	\$339.60
	4XL	Lime	RADIANS ST21-3PGS/POS	10	\$16.98	\$169.80
		Orange	RADIANS ST21-3PGS/POS	10	\$16.98	\$169.80
	5XL	Lime	RADIANS ST21-3PGS/POS	5	\$16.98	\$84.90
		Orange	RADIANS ST21-3PGS/POS	5	\$16.98	\$84.90
Sub-Total of Item #14						\$4,414.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

15) Hi-Vis Short Sleeve Polo Shirt, Max-Dri Moisture wicking Mesh, 2" Heat Transfer Reflective Tape, 1 Horizontal Stripe, Pockets: 1 upper left front, Collar with 2 buttons, Materials: 100% wicking Polyester Mesh, 25 wash maximum, Meet ANSI/ISEA, Type R, Class: 2, Color: Lime and Orange

RADIANS ST12-2PGS/POS

Brand & Item # of Polo Shirt

2 X
Min. Order * **YES** **NO**
Does product meet the specifications?

Item #15: Safety Shirt						
Polo Shirt / Short Sleeve / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS ST12-2PGS/POS	5	\$14.98	\$74.90
		Orange	RADIANS ST12-2PGS/POS	5	\$14.98	\$74.90
	Medium	Lime	RADIANS ST12-2PGS/POS	10	\$14.98	\$149.80
		Orange	RADIANS ST12-2PGS/POS	10	\$14.98	\$149.80
	Large	Lime	RADIANS ST12-2PGS/POS	20	\$14.98	\$299.60
		Orange	RADIANS ST12-2PGS/POS	20	\$14.98	\$229.60
	X-large	Lime	RADIANS ST12-2PGS/POS	30	\$14.98	\$449.40
		Orange	RADIANS ST12-2PGS/POS	30	\$14.98	\$449.40
	2XL	Lime	RADIANS ST12-2PGS/POS	30	\$14.98	\$449.40
		Orange	RADIANS ST12-2PGS/POS	30	\$14.98	\$449.40
	3XL	Lime	RADIANS ST12-2PGS/POS	20	\$14.98	\$229.60
		Orange	RADIANS ST12-2PGS/POS	20	\$14.98	\$229.60
	4XL	Lime	RADIANS ST12-2PGS/POS	10	\$14.98	\$149.80
		Orange	RADIANS ST12-2PGS/POS	10	\$14.98	\$149.80
	5XL	Lime	RADIANS ST12-2PGS/POS	5	\$14.98	\$74.90
		Orange	RADIANS ST12-2PGS/POS	5	\$14.98	\$74.90
Sub-Total of Item #15						\$3,894.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

16) Hi-Vis Long Sleeve Polo Shirt, Max-Dri Moisture wicking Mesh, 2" Heat Transfer Reflective Tape, 1 Horizontal Stripe, Pockets: 1 upper left front, Collar with 2 buttons, Materials: 100% wicking Polyester Mesh, 25 wash maximum, Meet ANSI/ISEA, Type R, Class: 3, Color: Lime and Orange

OCCUNOMIX_LUX-LSPP3B

Brand & Item # of Polo Shirt

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #16: Safety Shirts						
Polo Shirt / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	OCCUNOMIX_LUX-LSPP3	5	\$28.11	\$140.55
		Orange	OCCUNOMIX_LUX-LSPP3	5	\$28.11	\$140.55
	Medium	Lime	OCCUNOMIX_LUX-LSPP3	10	\$28.11	\$281.10
		Orange	OCCUNOMIX_LUX-LSPP3	10	\$28.11	\$281.10
	Large	Lime	OCCUNOMIX_LUX-LSPP3	20	\$28.11	\$562.20
		Orange	OCCUNOMIX_LUX-LSPP3	20	\$28.11	\$562.20
	X-large	Lime	OCCUNOMIX_LUX-LSPP3	30	\$28.11	\$843.30
		Orange	OCCUNOMIX_LUX-LSPP3	30	\$28.11	\$843.30
	2XL	Lime	OCCUNOMIX_LUX-LSPP3	30	\$28.11	\$843.30
		Orange	OCCUNOMIX_LUX-LSPP3	30	\$28.11	\$843.30
	3XL	Lime	OCCUNOMIX_LUX-LSPP3	20	\$28.11	\$562.20
		Orange	OCCUNOMIX_LUX-LSPP3	20	\$28.11	\$562.20
	4XL	Lime	OCCUNOMIX_LUX-LSPP3	10	\$28.11	\$281.10
		Orange	OCCUNOMIX_LUX-LSPP3	10	\$28.11	\$281.10
	5XL	Lime	OCCUNOMIX_LUX-LSPP3	5	NO BID	\$NO BID
		Orange	OCCUNOMIX_LUX-LSPP3	5	NO BID	\$NO BID
Sub-Total of Item #16						\$7,027.50

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

17) Hi-Vis Short Sleeve Shirt, Solid Color Front, 2” silver reflective tape, 2 vertical stripes, 2 horizontal stripes and 1 horizontal stripe on each sleeve, 100% polyester mesh, 140 gsm with a UPF of 50+, 1 upper left breast pocket, ANSI/ISEA Type R, Class: 2, Color: Lime and Orange

CORNERSTONE CS408

Brand & Item # of Shirt

2	X	
Min. Order *	YES	NO
	Does product meet the specifications?	

Item #17: Safety Shirt						
Solid Color Front Shirt / UPF 50+ / Short Sleeve / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	CORNERSTONE CS408	5	\$18.87	\$94.35
		Orange	CORNERSTONE CS408	5	\$18.87	\$94.35
	Medium	Lime	CORNERSTONE CS408	10	\$18.87	\$188.70
		Orange	CORNERSTONE CS408	10	\$18.87	\$188.70
	Large	Lime	CORNERSTONE CS408	20	\$18.87	\$377.40
		Orange	CORNERSTONE CS408	20	\$18.87	\$377.40
	X-large	Lime	CORNERSTONE CS408	30	\$18.87	\$566.10
		Orange	CORNERSTONE CS408	30	\$18.87	\$566.10
	2XL	Lime	CORNERSTONE CS408	30	\$20.39	\$611.70
		Orange	CORNERSTONE CS408	30	\$20.39	\$611.70
	3XL	Lime	CORNERSTONE CS408	20	\$23.42	\$468.40
		Orange	CORNERSTONE CS408	20	\$23.42	\$468.40
	4XL	Lime	CORNERSTONE CS408	10	\$24.94	\$249.40
		Orange	CORNERSTONE CS408	10	\$24.94	\$249.40
	5XL	Lime	CORNERSTONE CS408	5	NO BID	NO BID
		Orange	CORNERSTONE CS408	5	NO BID	NO BID
Sub-Total of Item #17						\$5,112.10

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

18) Hi-Vis Long Sleeve Shirt, Solid Color Front, 2" silver reflective tape, 2 vertical stripes, 2 horizontal stripes and 1 horizontal stripe on each sleeve, 100% polyester mesh, 140 gsm with a UPF of 50+, 1 upper left breast pocket. ANSI/ISEA Type R, Class: 3, Color: Lime and Orange

CORNERSTONE CS409

Brand & Item # of Shirt

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #18: Safety Shirt						
Solid Color Front Shirt / UPF 50+ / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	CORNERSTONE CS409	5	\$22.01	\$110.05
		Orange	CORNERSTONE CS409	5	\$22.01	\$110.05
	Medium	Lime	CORNERSTONE CS409	10	\$22.01	\$220.10
		Orange	CORNERSTONE CS409	10	\$22.01	\$220.10
	Large	Lime	CORNERSTONE CS409	20	\$22.01	\$440.20
		Orange	CORNERSTONE CS409	20	\$22.01	\$440.20
	X-large	Lime	CORNERSTONE CS409	30	\$22.01	\$660.30
		Orange	CORNERSTONE CS409	30	\$22.01	\$660.30
	2XL	Lime	CORNERSTONE CS409	30	\$23.53	\$705.90
		Orange	CORNERSTONE CS409	30	\$25.53	\$705.90
	3XL	Lime	CORNERSTONE CS409	20	\$26.57	\$531.40
		Orange	CORNERSTONE CS409	20	\$26.57	\$531.40
	4XL	Lime	CORNERSTONE CS409	10	\$28.09	\$280.90
		Orange	CORNERSTONE CS409	10	\$28.09	\$280.90
	5XL	Lime	CORNERSTONE CS409	5	NO BID	NO BID
		Orange	CORNERSTONE CS409	5	NO BID	NO BID
Sub-Total of Item #18						\$

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

19) Hi-Vis Short Sleeve Black Bottom Shirt, 2" silver reflective tape, 2 vertical stripes, and 1 horizontal stripe, black bottom front where it joins the upper shirt, 100% polyester mesh, 140 gsm with a UPF of 50+, 1 upper left breast pocket, ANSI/ISEA Type R, Class: 2, Color: Lime and Orange

PIP 312-1250BLY/BOR

Brand & Item # of Shirt

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #19: Safety Shirt						
Black Bottom Shirt / Short Sleeve / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	PIP 312-1250BLY/BOR_	5	\$10.92	\$54.60
		Orange	PIP 312-1250BLY/BOR	5	\$10.92	\$54.60
	Medium	Lime	PIP 312-1250BLY/BOR_	10	\$10.92	\$109.20
		Orange	PIP 312-1250BLY/BOR_	10	\$10.92	\$109.20
	Large	Lime	PIP 312-1250BLY/BOR_	20	\$10.92	\$218.40
		Orange	PIP 312-1250BLY/BOR_	20	\$10.92	\$218.40
	X-large	Lime	PIP 312-1250BLY/BOR_	30	\$10.92	\$327.60
		Orange	PIP 312-1250BLY/BOR_	30	\$10.92	\$327.60
	2XL	Lime	PIP 312-1250BLY/BOR_	30	\$10.92	\$327.60
		Orange	PIP 312-1250BLY/BOR_	30	\$10.92	\$327.60
	3XL	Lime	PIP 312-1250BLY/BOR_	20	\$10.92	\$218.40
		Orange	PIP 312-1250BLY/BOR_	20	\$10.92	\$218.40
	4XL	Lime	PIP 312-1250BLY/BOR_	10	\$10.92	\$109.20
		Orange	PIP 312-1250BLY/BOR_	10	\$10.92	\$109.20
	5XL	Lime	PIP 312-1250BLY/BOR_	5	\$10.92	\$54.60
		Orange	PIP 312-1250BLY/BOR_	5	\$10.92	\$54.60
Sub-Total of Item #19						\$2,839.20

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

20) Hi-Vis Long Sleeve Black Bottom Shirt, 2” silver reflective tape, 2 vertical stripes, and 1 horizontal stripe and 1 horizontal stripe around the upper arm on the black background, black bottom front where it joins the upper shirt and black lower sleeves, 100% polyester mesh, 140 gsm with a UPF of 50+, 1 upper left breast pocket, Type R, ANSI/ISEA Class: 3, Color: Lime and Orange

PIP 313-1390BLY/BOR

Brand & Item # of Shirt

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #20: Safety Shirt						
Black Bottom Shirt / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	PIP 313-1390BLY/BOR	5	\$15.38	\$76.90
		Orange	PIP 313-1390BLY/BOR	5	\$15.38	\$76.90
	Medium	Lime	PIP 313-1390BLY/BOR	10	\$15.38	\$153.80
		Orange	PIP 313-1390BLY/BOR	10	\$15.38	\$153.80
	Large	Lime	PIP 313-1390BLY/BOR	20	\$15.38	\$307.60
		Orange	PIP 313-1390BLY/BOR	20	\$15.38	\$307.60
	X-large	Lime	PIP 313-1390BLY/BOR	30	\$15.38	\$461.40
		Orange	PIP 313-1390BLY/BOR	30	\$15.38	\$461.40
	2XL	Lime	PIP 313-1390BLY/BOR	30	\$15.38	\$461.40
		Orange	PIP 313-1390BLY/BOR	30	\$15.38	\$461.40
	3XL	Lime	PIP 313-1390BLY/BOR	20	\$15.38	\$307.60
		Orange	PIP 313-1390BLY/BOR	20	\$15.38	\$307.60
	4XL	Lime	PIP 313-1390BLY/BOR	10	\$15.38	\$153.80
		Orange	PIP 313-1390BLY/BOR	10	\$15.38	\$153.80
	5XL	Lime	PIP 313-1390BLY/BOR	5	\$15.38	\$76.90
		Orange	PIP 313-1390BLY/BOR	5	\$15.38	\$76.90
Sub-Total of Item #20						\$3,998.80

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

21) Hi-Vis Short Sleeve Black Bottom Moisture Wicking Polo Shirt, Birdseye Breathable and Moisture Wicking Polyester Mesh, 2" silver heat transfer reflective tape, 2 vertical stripes, and 1 horizontal stripe, UPF of 50, 1 upper left breast pocket, Type R, ANSI/ISEA Class: 2, Color: Lime and Orange

GSS SAFETY GSS-5003/5004

Brand & Item # of Polo Shirt

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #21: Safety Shirt						
Black Bottom Polo Shirt / Short Sleeve / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	GSS SAFETY GSS-5003/5004	5	\$17.85	\$89.25
		Orange	GSS SAFETY GSS-5003/5004	5	\$17.85	\$89.25
	Medium	Lime	GSS SAFETY GSS-5003/5004	10	\$17.85	\$178.50
		Orange	GSS SAFETY GSS-5003/5004	10	\$17.85	\$178.50
	Large	Lime	GSS SAFETY GSS-5003/5004	20	\$17.85	\$357.00
		Orange	GSS SAFETY GSS-5003/5004	20	\$17.85	\$357.00
	X-large	Lime	GSS SAFETY GSS-5003/5004	30	\$17.85	\$535.50
		Orange	GSS SAFETY GSS-5003/5004	30	\$17.85	\$535.50
	2XL	Lime	GSS SAFETY GSS-5003/5004	30	\$17.85	\$535.50
		Orange	GSS SAFETY GSS-5003/5004	30	\$17.85	\$535.50
	3XL	Lime	GSS SAFETY GSS-5003/5004	20	\$17.85	\$357.00
		Orange	GSS SAFETY GSS-5003/5004	20	\$17.85	\$357.00
	4XL	Lime	GSS SAFETY GSS-5003/5004	10	\$17.85	\$178.50
		Orange	GSS SAFETY GSS-5003/5004	10	\$17.85	\$178.50
	5XL	Lime	GSS SAFETY GSS-5003/5004	5	\$17.85	\$89.25
		Orange	GSS SAFETY GSS-5003/5004	5	\$17.85	\$89.25
Sub-Total of Item #21						\$4,641.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

22) Hi-Vis Long Sleeve Black Bottom Moisture Wicking Polo Shirt, Birdseye Breathable and Moisture Wicking Polyester Mesh, 2" silver heat transfer reflective tape, 2 vertical stripes, and 1 horizontal stripe and 2 horizontal stripes on the sleeves (1 upper and 1 lower) UPF of 50, 1 upper left breast pocket, Type R, ANSI/ISEA Class: 3, Color: Lime and Orange

GSS SAFETY GSS-5507

Brand & Item # of Polo Shirt

2

X

Min. Order *

YES

NO

Does product meet the specifications?

Item #22: Safety Shirt						
Black Bottom Polo Shirt / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	GSS SAFETY GSS-5507	5	\$24.40	\$122.00
		Orange	GSS SAFETY GSS-5507	5	\$24.40	\$122.00
	Medium	Lime	GSS SAFETY GSS-5507	10	\$24.40	\$244.00
		Orange	GSS SAFETY GSS-5507	10	\$24.40	\$244.00
	Large	Lime	GSS SAFETY GSS-5507	20	\$24.40	\$488.00
		Orange	GSS SAFETY GSS-5507	20	\$24.40	\$488.00
	X-large	Lime	GSS SAFETY GSS-5507	30	\$24.40	\$732.00
		Orange	GSS SAFETY GSS-5507	30	\$24.40	\$732.00
	2XL	Lime	GSS SAFETY GSS-5507	30	\$24.40	\$732.00
		Orange	GSS SAFETY GSS-5507	30	\$24.40	\$732.00
	3XL	Lime	GSS SAFETY GSS-5507	20	\$24.40	\$488.00
		Orange	GSS SAFETY GSS-5507	20	\$24.40	\$488.00
	4XL	Lime	GSS SAFETY GSS-5507	10	\$24.40	\$244.00
		Orange	GSS SAFETY GSS-5507	10	\$24.40	\$244.00
	5XL	Lime	GSS SAFETY GSS-5507	5	\$24.40	\$122.00
		Orange	GSS SAFETY GSS-5507	5	\$24.40	\$122.00
Sub-Total of Item #22						\$6,344.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

23) Hi-Vis Long Sleeve Lightweight Rip Stop Button Down Shirt, with SPF 50+, 96% Polyester, 4% spandex, segment reflective tape, roll-up, bottom-tab sleeves with pen pocket, cape ventilation mesh design, zippered cell phone pocket on the right chest, secure pocket with hook-and-loop closures on the left chest pocket, button down front closure and collar, Type R, ANSI/ISEA Class: 3 Color: Lime and Orange

GSS SAFETY GSS-7505

Brand & Item # of Rip Stop Shirt

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #23: Safety Shirt						
Light Weight Rip Stop Button Down / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	GSS SAFETY GSS-7505	5	\$47.95	\$239.75
		Orange	GSS SAFETY GSS-7505	5	\$47.95	\$239.75
	Medium	Lime	GSS SAFETY GSS-7505	10	\$47.95	\$479.50
		Orange	GSS SAFETY GSS-7505	10	\$47.95	\$479.50
	Large	Lime	GSS SAFETY GSS-7505	20	\$47.95	\$959.00
		Orange	GSS SAFETY GSS-7505	20	\$47.95	\$959.00
	X-large	Lime	GSS SAFETY GSS-7505	30	\$47.95	\$1,438.50
		Orange	GSS SAFETY GSS-7505	30	\$47.95	\$1,438.50
	2XL	Lime	GSS SAFETY GSS-7505	30	\$47.95	\$1,438.50
		Orange	GSS SAFETY GSS-7505	30	\$47.95	\$1,438.50
	3XL	Lime	GSS SAFETY GSS-7505	20	\$47.95	\$959.00
		Orange	GSS SAFETY GSS-7505	20	\$47.95	\$959.00
	4XL	Lime	GSS SAFETY GSS-7505	10	\$47.95	\$479.50
		Orange	GSS SAFETY GSS-7505	10	\$47.95	\$479.50
	5XL	Lime	GSS SAFETY GSS-7505	5	\$47.95	\$239.75
		Orange	GSS SAFETY GSS-7505	5	\$47.95	\$239.75
Sub-Total of Item #23						\$12,467.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

WELDING SHIRTS – Both Hi-Vis & Non

24) Hi-Vis Vented Back Dual Hazard Shirt, long sleeve, button closure, NFPA 70e CAT 2, ASTM F1506 / NFPA 2112, 8 Cal ATPV, UL Certified, left sleeve pencil pockets, Left chest pocket, right chest pocket with radio clip, 5.7 oz Sateen Westex DH Air; 48% Lenzing Lyocell, 40% Modacrylic, 12% Aramid, 2” Segmented FR Reflective Tape, Type R, ANSI/ISEA Class: 3, Color: Fluorescent Yellow

NEESE VDH5VSH3

Brand & Item # of Shirt

2	X	
Min. Order *	YES	NO
Does product meet the specifications?		

Item #24: Safety Welding Shirt						
Vent Back Dual Hazard Shirt / Button Closure / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	NEESE VDH5VSH3	5	\$98.99	\$494.95
		Orange	NEESE VDH5VSH3	5	\$98.99	\$494.95
	Medium	Lime	NEESE VDH5VSH3	5	\$98.99	\$494.95
		Orange	NEESE VDH5VSH3	5	\$98.99	\$494.95
	Large	Lime	NEESE VDH5VSH3	5	\$98.99	\$494.95
		Orange	NEESE VDH5VSH3	5	\$98.99	\$494.95
	X-large	Lime	NEESE VDH5VSH3	5	\$98.99	\$494.95
		Orange	NEESE VDH5VSH3	5	\$98.99	\$494.95
	2XL	Lime	NEESE VDH5VSH3	5	\$103.99	\$519.95
		Orange	NEESE VDH5VSH3	5	\$103.99	\$519.95
	3XL	Lime	NEESE VDH5VSH3	5	\$106.99	\$534.95
		Orange	NEESE VDH5VSH3	5	\$106.99	\$534.95
	4XL	Lime	NEESE VDH5VSH3	5	\$110.99	\$554.95
		Orange	NEESE VDH5VSH3	5	\$110.99	\$554.95
	5XL	Lime	NEESE VDH5VSH3	5	NO BID	NO BID
		Orange	NEESE VDH5VSH3	5	NO BID	NO BID
Sub-Total of Item #24						\$7,179.30

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

26) Radians VDH5SH DH Air fabric work shirt, 5.5 oz Westex DH Air fabric, breathable, moisture wicking technology, dual hazard protection NFPA 2112, NFPA 70E, Classic button front styling, left chest pocket, button down and ease pleat back, adjustable sleeve jacket, bar tacked stress points, Colors: Navy, Gray, Khaki and Cobalt

NEESE VDH5SH

Brand & Item # of Shirt

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #26: Welding Shirt						
Radians VDH5SH Welding Work Shirt / Adjustable Sleeve						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Navy	NEESE VDH5SH	5	\$78.95	\$394.75
		Gray	NEESE VDH5SH	5	\$78.95	\$394.75
		Khaki	NEESE VDH5SH	5	\$78.95	\$394.75
		Cobalt	NEESE VDH5SH	5	\$78.95	\$394.75
	Medium	Navy	NEESE VDH5SH	5	\$78.95	\$394.75
		Gray	NEESE VDH5SH	5	\$78.95	\$394.75
		Khaki	NEESE VDH5SH	5	\$78.95	\$394.75
		Cobalt	NEESE VDH5SH	5	\$78.95	\$394.75
	Large	Navy	NEESE VDH5SH	5	\$78.95	\$394.75
		Gray	NEESE VDH5SH	5	\$78.95	\$394.75
		Khaki	NEESE VDH5SH	5	\$78.95	\$394.75
		Cobalt	NEESE VDH5SH	5	\$78.95	\$394.75
	X-large	Navy	NEESE VDH5SH	5	\$78.95	\$394.75
		Gray	NEESE VDH5SH	5	\$78.95	\$394.75
		Khaki	NEESE VDH5SH	5	\$78.95	\$394.75
		Cobalt	NEESE VDH5SH	5	\$78.95	\$394.75
	2XL	Navy	NEESE VDH5SH	5	\$81.95	\$409.75
		Gray	NEESE VDH5SH	5	\$81.95	\$409.75
		Khaki	NEESE VDH5SH	5	\$81.95	\$409.75
		Cobalt	NEESE VDH5SH	5	\$81.95	\$409.75
	3XL	Navy	NEESE VDH5SH	5	\$83.95	\$419.75
		Gray	NEESE VDH5SH	5	\$83.95	\$419.75
		Khaki	NEESE VDH5SH	5	\$83.95	\$419.75
		Cobalt	NEESE VDH5SH	5	\$83.95	\$419.75
	4XL	Navy	NEESE VDH5SH	5	\$84.95	\$429.75
		Gray	NEESE VDH5SH	5	\$84.95	\$429.75
		Khaki	NEESE VDH5SH	5	\$84.95	\$429.75

BID SHEET (Page 29 of 56)

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

		Cobalt	NEESE VDH5VSH	5	\$90.95	\$454.75
	2XL	Navy	NEESE VDH5VSH	5	\$93.95	\$469.75
		Gray	NEESE VDH5VSH	5	\$93.95	\$469.75
		Khaki	NEESE VDH5VSH	5	\$93.95	\$469.75
		Cobalt	NEESE VDH5VSH	5	\$93.95	\$469.75
	3XL	Navy	NEESE VDH5VSH	5	\$95.95	\$479.75
		Gray	NEESE VDH5VSH	5	\$95.95	\$479.75
		Khaki	NEESE VDH5VSH	5	\$95.95	\$479.75
		Cobalt	NEESE VDH5VSH	5	\$95.95	\$479.75
	4XL	Navy	NEESE VDH5VSH	5	\$98.95	\$494.75
		Gray	NEESE VDH5VSH	5	\$98.95	\$494.75
		Khaki	NEESE VDH5VSH	5	\$98.95	\$494.75
		Cobalt	NEESE VDH5VSH	5	\$98.95	\$494.75
	5XL	Navy	NEESE VDH5VSH	5	NO BID	NO BID
		Gray	NEESE VDH5VSH	5	NO BID	NO BID
		Khaki	NEESE VDH5VSH	5	NO BID	NO BID
		Cobalt	NEESE VDH5VSH	5	NO BID	NO BID
Sub-Total of Item #27						\$13,053.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

JACKETS: High Visibility

28) Hi-Vis Safety Jacket with black bottom, concealed detachable hood, elasticized waistband and several inner and outer pockets with 2" silver reflective tape, outer shell is PU coated weather proof polyester with elasticized waistband and cuffs including hook and loop, zippered removable fleece liner jacket with slash pockets, cellphone and radio chest pockets, 3 outside pockets on the fleece jacket and a clear chest badge holder, 2 left sleeve pencil pockets and mic tabs, Type R, ANSI/ISEA Class: 3, Color: Lime and Orange

RADIANS SJ210B-3ZGS/OS

Brand & Item # of Jacket

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #28: Safety Jackets						
Jacket with Black Bottom / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SJ210B-3ZGS/OS	5	\$52.99	\$264.95
		Orange	RADIANS SJ210B-3ZGS/OS	5	\$52.99	\$264.95
	Medium	Lime	RADIANS SJ210B-3ZGS/OS	10	\$52.99	\$529.90
		Orange	RADIANS SJ210B-3ZGS/OS	10	\$52.99	\$529.90
	Large	Lime	RADIANS SJ210B-3ZGS/OS	20	\$52.99	\$1,059.80
		Orange	RADIANS SJ210B-3ZGS/OS	20	\$52.99	\$1,059.80
	X-large	Lime	RADIANS SJ210B-3ZGS/OS	30	\$52.99	\$1,589.70
		Orange	RADIANS SJ210B-3ZGS/OS	30	\$52.99	\$1,589.70
	2XL	Lime	RADIANS SJ210B-3ZGS/OS	30	\$52.99	\$1,589.70
		Orange	RADIANS SJ210B-3ZGS/OS	30	\$52.99	\$1,589.70
	3XL	Lime	RADIANS SJ210B-3ZGS/OS	20	\$52.99	\$1,059.80
		Orange	RADIANS SJ210B-3ZGS/OS	20	\$52.99	\$1,059.80
	4XL	Lime	RADIANS SJ210B-3ZGS/OS	10	\$52.99	\$529.90
		Orange	RADIANS SJ210B-3ZGS/OS	10	\$52.99	\$529.90
	5XL	Lime	RADIANS SJ210B-3ZGS/OS	5	\$52.99	\$264.95
		Orange	RADIANS SJ210B-3ZGS/OS	5	\$52.99	\$264.95
Sub-Total of Item #28						\$13,777.40

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

29) Hi-Vis Long Sleeve Hooded Sweatshirt, 100% polyester fleece, 280gsm, 2” silver reflective tape, 2 horizontal stripes (1 around the upper arm and 1 around the black material), 2 vertical strips, full zipper front closure, with rib knit wrists and cuffs, 2 large hand warmer pockets, hood lined with birds-eye mesh for airflow and quick drying , drawstring closure around attached hood, black bottom on the front and lower portion of the sleeves, Type R, ANSI/ISEA Class: 3, Color: Lime and Orange

RADIANS SJ01B-3

Brand & Item # of Sweatshirt

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #29: Safety Jacket						
Hooded Sweatshirt with Black Bottom / Long Sleeve / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS SJ01B-3	5	\$32.95	\$164.75
		Orange	RADIANS SJ01B-3	5	\$32.95	\$164.75
	Medium	Lime	RADIANS SJ01B-3	10	\$32.95	\$329.50
		Orange	RADIANS SJ01B-3	10	\$32.95	\$329.50
	Large	Lime	RADIANS SJ01B-3	20	\$32.95	\$659.00
		Orange	RADIANS SJ01B-3	20	\$32.95	\$659.00
	X-large	Lime	RADIANS SJ01B-3	30	\$32.95	\$988.50
		Orange	RADIANS SJ01B-3	30	\$32.95	\$988.50
	2XL	Lime	RADIANS SJ01B-3	30	\$32.95	\$988.50
		Orange	RADIANS SJ01B-3	30	\$32.95	\$988.50
	3XL	Lime	RADIANS SJ01B-3	20	\$32.95	\$659.00
		Orange	RADIANS SJ01B-3	20	\$32.95	\$659.00
	4XL	Lime	RADIANS SJ01B-3	10	\$32.95	\$329.50
		Orange	RADIANS SJ01B-3	10	\$32.95	\$329.50
	5XL	Lime	RADIANS SJ01B-3	5	\$32.95	\$164.75
		Orange	RADIANS SJ01B-3	5	\$32.95	\$164.75
Sub-Total of Item #29						\$8,567.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

RAIN GEAR: High Visibility

Includes rain jackets, pants, bib pants and coats

30) Hi-Vis Lightweight rain jacket with Reflective weather-proof and high visibility technology. 150 Denier PU coated, high visibility oxford material for protection with 2" wide reflective stripes on chest, back and two stripes on each of the sleeves. The Jacket has a vented back cape to keep the worker cool and comfortable but still protecting them in tough environments. Color: Yellow. Minimum of 25 washes. ANSI/ISEA Class: 3 / Garment Type R.

Items 30 & 31 will be awarded together

RADIANS RW10-3S1Y

Brand & Item # of Rain Jacket

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #30: Safety Rain Gear						
Lightweight Rain Jacket / Class 3 Will be awarded with Item #31						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS RW10-3S1Y	5	\$32.95	\$164.75
	Medium	Lime	RADIANS RW10-3S1Y	10	\$32.95	\$329.50
	Large	Lime	RADIANS RW10-3S1Y	20	\$32.95	\$659.00
	X-large	Lime	RADIANS RW10-3S1Y	30	\$32.95	\$988.50
	2XL	Lime	RADIANS RW10-3S1Y	30	\$32.95	\$988.50
	3XL	Lime	RADIANS RW10-3S1Y	20	\$32.95	\$659.00
	4XL	Lime	RADIANS RW10-3S1Y	10	\$32.95	\$329.50
	5XL	Lime	RADIANS RW10-3S1Y	5	\$32.95	\$164.75
Sub-Total of Item #30			Will be awarded with item #31			\$4,382.50

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

31) Hi-Vis Lightweight rain pants with Reflective weather-proof and high visibility technology. 150 Denier PU coated, high visibility oxford material for protection. The pants have two 2" wide reflective stripes on legs for better visibility. Color: Yellow. Minimum of 25 washes. ANSI/ISEA Class: E / Garment Type R.

Items 30 & 31 will be awarded together

RADIANS RW10-ES1Y

Brand & Item # of Rain pants

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #31: Safety Rain Gear						
Lightweight Rain Pants / Class E Will be awarded with Item #30						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS RW10-ES1Y	5	\$16.95	\$84.75
	Medium	Lime	RADIANS RW10-ES1Y	10	\$16.95	\$169.50
	Large	Lime	RADIANS RW10-ES1Y	20	\$16.95	\$339.00
	X-large	Lime	RADIANS RW10-ES1Y	30	\$16.95	\$508.50
	2XL	Lime	RADIANS RW10-ES1Y	30	\$16.95	\$508.50
	3XL	Lime	RADIANS RW10-ES1Y	20	\$16.95	\$339.00
	4XL	Lime	RADIANS RW10-ES1Y	10	\$16.95	\$169.50
	5XL	Lime	RADIANS RW10-ES1Y	5	\$16.95	\$84.75
Sub-Total of Item #31 Will be awarded with item #30						\$2,204.00
Total of Items #30 & 31 (Will be awarded to one Vendor)						\$6,487.50

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

32) Hi-Vis Rain Jacket, storm flap snap front closure with zipper underneath. Double stitched and waterproof tape. 2” wide reflective stripes. Detachable hood with drawstring stoppers (can be rolled into collar). Cape ventilated back and under arm vents. Elastic inner cuffs. 2 flap pockets. Color: Lime and Orange. Minimum of 25 washes. ANSI/ISEA Class: 3
Items 32 & 33 will be awarded together

NEESE 91001-40-1/91001-40-2

Brand & Item # of Rain Jacket

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #32: Safety Rain Gear		Will be awarded with item #33				
Rain Jacket with Storm Flap Snap Front Closure with Zipper / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	NEESE 91001-40-1	5	\$44.95	\$224.75
		Orange	NEESE 91001-40-1	5	\$44.95	\$224.75
	Medium	Lime	NEESE 91001-40-1	10	\$44.95	\$449.50
		Orange	NEESE 91001-40-1	10	\$44.95	\$449.50
	Large	Lime	NEESE 91001-40-1	20	\$44.95	\$899.00
		Orange	NEESE 91001-40-1	20	\$44.95	\$899.00
	X-large	Lime	NEESE 91001-40-1	30	\$44.95	\$1,348.50
		Orange	NEESE 91001-40-1	30	\$44.95	\$1,348.50
	2XL	Lime	NEESE 91001-40-1	30	\$44.95	\$1,348.50
		Orange	NEESE 91001-40-1	30	\$44.95	\$1,348.50
	3XL	Lime	NEESE 91001-40-2	20	\$48.95	\$979.00
		Orange	NEESE 91001-40-2	20	\$48.95	\$979.00
	4XL	Lime	NEESE 91001-40-2	10	\$48.95	\$489.50
		Orange	NEESE 91001-40-2	10	\$48.95	\$489.50
	5XL	Lime	NEESE 91001-40-2	5	\$48.95	\$244.75
		Orange	NEESE 91001-40-2	5	\$48.95	\$244.75
Sub-Total of Item #32		Will be awarded with Item #33				\$11,967.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

33) Hi-Vis Rain Pants, 2" wide reflective stripes. Boot zippers with adjustable hook and loop ankle straps. 2 pass through slits for front pockets access. Elastic waistband with drawstring and cord lock. Color: Lime and Orange. Minimum of 25 washes. ANSI/ISEA Class: E

Items 32 & 33 will be awarded together

NEESE 91001-10-1/90110-10-2

Brand & Item # of Rain Pants

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #33: Safety Rain Gear						
Rain Pants with Boot Zipper / Class E Will be awarded with item #32						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	NEESE 91001-10-1	5	\$28.95	\$144.75
		Orange	NEESE 91001-10-1	5	\$28.95	\$144.75
	Medium	Lime	NEESE 91001-10-1	10	\$28.95	\$289.50
		Orange	NEESE 91001-10-1	10	\$28.95	\$289.50
	Large	Lime	NEESE 91001-10-1	20	\$28.95	\$579.00
		Orange	NEESE 91001-10-1	20	\$28.95	\$579.00
	X-large	Lime	NEESE 91001-10-1	30	\$28.95	\$868.50
		Orange	NEESE 91001-10-1	30	\$28.95	\$868.50
	2XL	Lime	NEESE 91001-10-1	30	\$28.95	\$868.50
		Orange	NEESE 91001-10-1	30	\$28.95	\$868.50
	3XL	Lime	NEESE 91001-10-2	20	\$30.95	\$619.00
		Orange	NEESE 91001-10-2	20	\$30.95	\$619.00
	4XL	Lime	NEESE 91001-10-2	10	\$30.95	\$309.50
		Orange	NEESE 91001-10-2	10	\$30.95	\$309.50
	5XL	Lime	NEESE 91001-10-2	5	\$30.95	\$154.75
		Orange	NEESE 91001-10-2	5	\$30.95	\$154.75
Sub-Total of Item #33 Will be awarded with item #32						\$7,667.00
Total of Items #32 & 33 (Will be awarded to one Vendor)						\$19,634.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

34) Hi-Vis Rain Jacket, general purpose, 300D PU coated Oxford Hi-VIs polyester material with black bottom and lower sleeves, 2” silver Reflective tape (1 horizontal, 2 vertical and 2 sleeve stripes), vented back cape with D-ring, adjustable cuff wrists with hook and loop closure, detachable hood, mic tabs on both shoulders, zipper front closure with snap closure storm flap, 2 lower front pockets, upper chest radio pocket, pen pockets on sleeve, Color: Lime, Minimum of 25 washes. ANSI/ISEA Class: 3 **Items 34 & 35 will be awarded together**

RADIANS RW30-3Z1Y

Brand & Item # of Rain Jacket

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #34: Safety Rain Gear		Will be awarded with item #35				
Rain Jacket / General Purpose / Black Bottom and Lower Sleeves / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS RW30-3Z1Y	5	\$47.95	\$239.75
		Orange	RADIANS RW30-3Z1Y	5	\$47.95	\$239.75
	Medium	Lime	RADIANS RW30-3Z1Y	10	\$47.95	\$479.50
		Orange	RADIANS RW30-3Z1Y	10	\$47.95	\$479.50
	Large	Lime	RADIANS RW30-3Z1Y	20	\$47.95	\$959.00
		Orange	RADIANS RW30-3Z1Y	20	\$47.95	\$959.00
	X-large	Lime	RADIANS RW30-3Z1Y	30	\$47.95	\$1,438.50
		Orange	RADIANS RW30-3Z1Y	30	\$47.95	\$1,438.50
	2XL	Lime	RADIANS RW30-3Z1Y	30	\$47.95	\$1,438.50
		Orange	RADIANS RW30-3Z1Y	30	\$47.95	\$1,438.50
	3XL	Lime	RADIANS RW30-3Z1Y	20	\$47.95	\$959.00
		Orange	RADIANS RW30-3Z1Y	20	\$47.95	\$959.00
	4XL	Lime	RADIANS RW30-3Z1Y	10	\$47.95	\$479.50
		Orange	RADIANS RW30-3Z1Y	10	\$47.95	\$479.50
	5XL	Lime	RADIANS RW30-3Z1Y	5	\$47.95	\$239.75
		Orange	RADIANS RW30-3Z1Y	5	\$47.95	\$239.75
Sub-Total of Item #34						\$12,467.00
Will be awarded with item #35						

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

35) Hi-Vis Rain Bib Pants, general purpose, 300D PU coated Oxford Hi-VIs polyester material, two tone with black bottom legs, 1 horizontal reflective stripe on waist, slash pockets, upper chest pocket with zipper, 4 pen pockets, 1 large pocket, adjustable suspender straps, front hook and loop fly closure, side waist zipper expansion, adjustable snaps on lower leg. Color: Lime, Minimum of 25 washes. ANSI/ISEA Class: E **Items 34 & 35 will be awarded together**

RADIANS RW30-ES1Y

Brand & Item # of Rain Bib Pants

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #35: Safety Rain Gear		Will be awarded with item #34				
Rain Bib Pants / General Purpose / Black Bottom / Class E						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	RADIANS RW30-ES1Y	5	\$41.95	\$209.75
		Orange	RADIANS RW30-ES1Y	5	\$41.95	\$209.75
	Medium	Lime	RADIANS RW30-ES1Y	10	\$41.95	\$419.50
		Orange	RADIANS RW30-ES1Y	10	\$41.95	\$419.50
	Large	Lime	RADIANS RW30-ES1Y	20	\$41.95	\$839.00
		Orange	RADIANS RW30-ES1Y	20	\$41.95	\$839.00
	X-large	Lime	RADIANS RW30-ES1Y	30	\$41.95	\$1,258.50
		Orange	RADIANS RW30-ES1Y	30	\$41.95	\$1,258.50
	2XL	Lime	RADIANS RW30-ES1Y	30	\$41.95	\$1,258.50
		Orange	RADIANS RW30-ES1Y	30	\$41.95	\$1,258.50
	3XL	Lime	RADIANS RW30-ES1Y	20	\$41.95	\$839.00
		Orange	RADIANS RW30-ES1Y	20	\$41.95	\$839.00
	4XL	Lime	RADIANS RW30-ES1Y	10	\$41.95	\$419.50
		Orange	RADIANS RW30-ES1Y	10	\$41.95	\$419.50
	5XL	Lime	RADIANS RW30-ES1Y	5	\$41.95	\$209.75
		Orange	RADIANS RW30-ES1Y	5	\$41.95	\$209.75
Sub-Total of Item #35						\$10,907.00
Total of Items #34 & 35 (Will be awarded to one Vendor)						\$23,374.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

36) Hi-Vis Raincoat is made of 300 denier thick fabric for durability and has a detachable hood, storm fly front with snap closure with mesh lining on upper body, two flap pockets with Velcro closure and one inside cell phone pocket, adjustable Velcro cuffs with a coat length of 49" long, the coat has 2" wide reflective stripes on chest, back and two stripes on each of the sleeves, 100% Waterproof, ANSI/ISEA Class: 3, Type R, Color: Yellow

PORTWEST PW-UH447YB

Brand & Item # of Raincoat

2 X

Min. Order * YES NO

Does product meet the specifications?

Item #36: Safety Rain Gear						
Raincoat, 300 Denier Thick Fabric / 100% Waterproof / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Yellow	PORTWEST PW-UH447YB	5	\$116.37	\$581.85
	Medium	Yellow	PORTWEST PW-UH447YB	10	\$116.37	\$1,163.70
	Large	Yellow	PORTWEST PW-UH447YB	20	\$116.37	\$2,327.40
	X-large	Yellow	PORTWEST PW-UH447YB	30	\$116.37	\$3,491.10
	2XL	Yellow	PORTWEST PW-UH447YB	30	\$116.37	\$3,491.10
	3XL	Yellow	PORTWEST PW-UH447YB	20	\$116.37	\$2,327.40
	4XL	Yellow	PORTWEST PW-UH447YB	10	\$116.37	\$1,163.70
	5XL	Yellow	PORTWEST PW-UH447YB	5	\$116.37	\$581.85
Sub-Total of Item #36						\$15,128.10

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

37) Hi-Vis Raincoat, storm flap snap front closure, double stitched and waterproof tape, 2" wide reflective strips, detachable hood with drawstring stoppers, adjustable hook and loop cuffs, under arm vents, 3 pockets (1 inside cell phone pocket, 2 flap pockets), ANSI Class: 3, Color: Orange.

PIP 353-1048-OR

Brand & Item # of Raincoat

2	X	X
Min. Order *	YES	NO
Does product meet the specifications?		

Item #37: Safety Rain Gear						
Raincoat, Storm Flap Snap from Closure / Waterproof / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Orange	PIP 353-1048-OR	5	\$35.95	\$179.75
	Medium	Orange	PIP 353-1048-OR	10	\$35.95	\$359.50
	Large	Orange	PIP 353-1048-OR	20	\$35.95	\$719.00
	X-large	Orange	PIP 353-1048-OR	30	\$35.95	\$1,078.50
	2XL	Orange	PIP 353-1048-OR	30	\$35.95	\$1,078.50
	3XL	Orange	PIP 353-1048-OR	20	\$35.95	\$719.00
	4XL	Orange	PIP 353-1048-OR	10	\$35.95	\$359.50
	5XL	Orange	PIP 353-1048-OR	5	\$35.95	\$179.75
Sub-Total of Item #37						\$4,673.50

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

38) Hi-Vis Raincoat, 100% polyester, shell: breathable 150 Denier Oxford with PU coating, Lining: Black color 210 Denier Nylon, Zipper and fly front with snap closure, double stitched and waterproof tape 2"wide reflective stripes, detachable hood, chest phone pocket, mic tab and badge holes, 2 pass through access pockets, 49" long. ANSI Class: 3, Color: Lime.

ERB DELTA PLUS ERB-S163

Brand & Item # of Raincoat

2	X	X
Min. Order *	YES	NO
Does product meet the specifications?		

Item #38: Safety Rain Gear						
Raincoat, Storm Flap Snap from Closure / Waterproof / Class 3						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Small	Lime	ERB DELTA PLUS ERB-S163	5	\$52.71	\$263.55
	Medium	Lime	ERB DELTA PLUS ERB-S163	10	\$52.71	\$527.10
	Large	Lime	ERB DELTA PLUS ERB-S163	20	\$52.71	\$1,054.20
	X-large	Lime	ERB DELTA PLUS ERB-S163	30	\$52.71	\$1,581.30
	2XL	Lime	ERB DELTA PLUS ERB-S163	30	\$52.71	\$1,581.30
	3XL	Lime	ERB DELTA PLUS ERB-S163	20	\$52.71	\$1,054.20
	4XL	Lime	ERB DELTA PLUS ERB-S163	10	\$52.71	\$527.10
	5XL	Lime	ERB DELTA PLUS ERB-S163	5	\$52.71	\$263.55
Sub-Total of Item #38						\$6,852.30

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

HEADGEAR: High Visibility (were specified)

This section Will be awarded together

39) Hi-Vis Reflective Trucker Hat, Five-panel, structured mid-profile, high-visibility color crown with matching color mesh side and back panels, high-visibility contrast color taping with reflective grey center stripe on bottom side panels. Pre-curved visor with low glare grey twill under visor and sweatband, matching color plastic snap closure, 100% polyester reflective, Hi-VIs colors must meet ANSI/ISEA Class: 2 standards. Color: Neon Orange, Neon Yellow, Navy with reflective stripes

ADAMS TR102

Brand & Item # of Trucker Hat

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #39: Safety Headgear		Will be awarded together (39 - 51)				
Reflective Trucker Hat / 5-Panel / Structured Mid-Profile / Class 2						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Yellow	ADAMS TR102-YELLOW	10	\$5.50	\$55.00
		Orange		10	NO BID	NO BID
		Navy w/ Reflective Stripes	ADAMS TR102-NAVY	10	\$5.50	\$55.00
Sub-Total of Item #39			Will be awarded together (39 - 51)			\$110.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

40) Trucker Hat, Five-panel, structured mid-profile, color crown with matching color mesh side and back panels, contrast color taping. Pre-curved visor with low glare grey twill under visor and sweatband, matching color plastic snap closure, 100% polyester, Color: Any Color Available

Brand & Item # of Trucker Hat

Min. Order * YES NO
 Does product meet the specifications?

Item #40: Safety Headgear Will be awarded together (39 - 51)						
Trucker Hat / 5-Panel / Structured Mid-Profile / Solids & Patterns						
DOT#	Size	Color (Available)	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Solid			5		
		One Size			5	
					5	
					5	
					5	
					5	
Any additional colors available:						
	Pattern			5		
		One Size			5	
					5	
					5	
					5	
					5	
Any additional patterns available:						
Sub-Total of Item #40			Will be awarded together (39 - 51)			NO AWARD

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

41) Hi-Vis Reflective Trucker Hat (low fitting), 6-panel, seamed firm front panel with full buckram, 6 sewn eyelets matching piping design color, pro stitch on crown, matching fabric under visor, matching color sweatband adjustable hook and loop closure, 100% cotton, ANSI/ISEA Colors: Neon Orange and Neon Yellow

VALUCAP S102

Brand & Item # of Trucker Hat

2	X	X
Min. Order *	YES	NO

Does product meet the specifications?

Item #41: Safety Headgear		Will be awarded together (39 - 51)				
		Reflective Trucker Hat - low fitting / 6-Panel / 100% Cotton				
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Yellow	VALUCAP S102-COLOR	10	\$3.96	\$39.60
		Orange	VALUCAP S102-COLOR	10	\$3.96	\$39.60
Any additional reflective colors available:						
Sub-Total of Item #41		Will be awarded together (39 - 51)				\$79.20

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

42) Trucker Hat (low-fitting), 6-panel, seamed firm front panel with full buckram, 6 sewn eyelets matching piping design color, pro stitch on crown, matching fabric under visor, matching color sweatband adjustable hook and loop closure, 100% cotton, Colors: Any Color Available

Brand & Item # of Trucker Hat

2	X	X
Min. Order *	YES	NO
Does product meet the specifications?		

Item #42: Safety Headgear		Will be awarded together (39 - 51)				
Trucker Hat - low fitting / 6-Panel / 100% Cotton / Solids & Patterns						
DOT#	Size	Color (Available)	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	Solid			5		
		One Size			5	
					5	
					5	
					5	
					5	
Any additional colors available:						
	Pattern			5		
		One Size			5	
					5	
					5	
					5	
					5	
Any additional patterns available:						
Sub-Total of Item #42			Will be awarded together (39 - 51)			NO AWARD

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

43) Winter Beanie Cap, 100% acrylic, reflective sliver reflective 3M yarn stripe, ANSI/ISEA Colors: Neon Orange and Neon Yellow

CORNERSTONE CS800

Brand & Item # of Beanie

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #43: Safety Headgear		Will be awarded together (39 - 51)				
		Winter Beanie Cap / 100% Acrylic / Reflective Stripes				
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Yellow	CORNERSTONE CS800-COLOR	10	\$10.50	\$105.00
		Orange	CORNERSTONE CS800-COLOR	10	\$10.50	\$105.00
Any additional reflective colors available:						
Sub-Total of Item #43			Will be awarded together (39 - 51)			\$210.00

BID SHEET (Page 46 of 56)

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

44) Chill-its 8934 Hi-Vis Ranger Sun Hat with neck shade, full sun protection coverage – wide brim and UPF 50+ treatment to protect against harmful UV rays, microfiber sweatband lining, closure – cinch, slide on, adjustable, polyester and microfiber, breathable, lightweight, moisture wicking, ANSI/ISEA Color: Lime

ERGODYNE CHILL-ITS ERGO-8934

Brand & Item # of Ranger Hat

2	X
Min. Order *	YES NO
Does product meet the specifications?	

Item #44: Safety Headgear		Will be awarded together (39 – 51)				
Chill-its 8934 Hi-Vis Ranger Sun Hat with Neck Shade						
DOT#	Size	Color	Brand & Part #	Quantity	Price / each	Total Price
	One Size	Lime	ERGODYNE CHILL-ITS ERGO-8934-LIME	10	\$29.25	\$292.50
		Orange	ERGODYNE CHILL-ITS ERGO-8934-LIME	10	\$29.25	\$292.50
Any additional reflective colors available:						
Sub-Total of Item #44			Will be awarded together (39 – 51)			\$585.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

45) Chill-its Ranger Sun Hat with neck shade, full sun protection coverage – wide brim and UPF 50+ treatment to protect against harmful UV rays, microfiber sweatband lining, closure – cinch, slide on, adjustable, polyester and microfiber, breathable, lightweight, moisture wicking, ANSI/ISEA Color: Black

Brand & Item # of Ranger Hat

2 X

Min. Order * YES NO

Does product meet the specifications?

Item #45: Safety Headgear		Will be awarded together (39 – 51)				
Chill-its Ranger Sun Hat with Neck Shade/ Non Reflective						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Black		5		
Any additional reflective colors available:						
Sub-Total of Item #45			Will be awarded together (39 – 51)			NO AWARD

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

46) Chill-its 8935CT Hi-Vis Ranger Sun Hat – PVA Cooling, 150D polyester hat with wide brim, PVA Cooling Technology (cooling up to 4 hours), 360-degree mesh venting, 1” reflective tape, adjustable, UV/Sun protection, ANSI/ISEA Color: Lime

ERGODYNE CHIL-ITS ERGO-8935CT-LIME

Brand & Item # of Ranger Hats

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #46: Safety Headgear							Will be awarded together (39 – 51)									
							Chill-its 8935CT Hi-Vis Ranger / PVA Cooling Technology									
							THIS HAT CAN NOT BE LOGOED									
DOT#	Size	Color	Brand & Part #				Quantity (estimate**)	Price / each	Total Price							
	One Size	Lime	ERGODYNE CHILL-ITS ERGO-8935CT-LIME				10	\$15.86	\$158.60							
Any additional reflective colors available:																
Sub-Total of Item #46							Will be awarded together (39 – 51)							\$158.60		

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

47) Hi-Vis Ranger Hat, contract reflective tape, ANSI Compliant materials, full brim lightweight hat with mesh crown for ventilation, reflective piping around brim, drawstring to secure in place, one size fits most, ANSI/ISEA Color: Yellow

PIP PIP-350-RAGNER

Brand & Item # of Ranger Hats

2 X
Min. Order * YES NO
Does product meet the specifications?

Item #47: Safety Headgear		Will be awarded together (39 - 51)				
Ranger Hat / Contrast Reflective Tape / Ventilation / Draw String						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Yellow	PIP PIP-350-RANGER-LIME	10	\$5.89	\$58.90
Any additional reflective colors available:						
Sub-Total of Item #47			Will be awarded together (39 - 51)			\$58.90

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

48) Ranger Hat with shade, wicking and cooling fabric crown and neck drape (wet it, wring it and snap it to activate cooling effect) wicks away sweat and moisture with 360 degree cooling, roll & snap shade, mesh panel for extreme breathability, full brim lightweight hat with mesh crown for ventilation, drawstring to secure in place, one size fits most, ANSI/ISEA Color: Yellow

OCCUNOMIX OCCU-TD500-HVY

Brand & Item # of Ranger Hats

2	X
Min. Order *	YES NO
	Does product meet the specifications?

Item #48: Safety Headgear		Will be awarded together (39 – 51)				
Ranger Hat with Neck Shade / 360 Degree Colling / Full Brim						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Yellow	OCCUNOMIX OCCU-TD500-HVY	10	\$23.17	\$231.70
Any additional reflective colors available:						
Sub-Total of Item #48			Will be awarded together (39 – 51)			\$231.70

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

49) Hi-Vis Ranger Hat with shade, wicking and cooling fabric crown and neck drape (wet it, wring it and snap it to activate cooling effect) wicks away sweat and moisture with 360 degree cooling, roll & snap shade, mesh panel for extreme breathability, full brim lightweight hat with mesh crown for ventilation, drawstring to secure in place, one size fits most, Color: Any Color Available

Brand & Item # of Ranger Hats

Min. Order * YES NO
Does product meet the specifications?

Item #49: Safety Headgear Will be awarded together (39 - 51)						
Ranger Hat with Neck Shade / 360 Degree Cooling / Full Brim / Non Reflective						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	NAVY		10		
Any additional colors available:						
Sub-Total of Item #49			Will be awarded together (39 - 51)			NO AWARD

BID SHEET (Page 52 of 56)

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

50) Chill-Its 6615 High-Performance Bandana – terry cloth sweatband, tie closure, absorptive, polyester and rubber, hard hat compatible, machine washable, moisture wicking, warm temperature protection, one size fits most, Color: Lime

ERGODYNE ERGO-6615-LIME

Brand & Item # of Bandana

2	X	
Min. Order *	YES	NO
	Does product meet the specifications?	

Item #50: Safety Headgear Will be awarded together (39 – 51)						
Chill-its 6615 / Terry Cloth Sweatband / Tie Closure / Hard Hat Compatible						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Lime	ERGODYNE ERGO-6615-LIME	10	\$7.60	\$76.00
Any additional reflective colors available:						
Sub-Total of Item #50			Will be awarded together (39 – 51)			\$76.00

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

51) Chill-Its 6615 High-Performance Bandana – terry cloth sweatband, tie closure, absorptive, polyester and rubber, hard hat compatible, machine washable, moisture wicking, warm temperature protection, one size fits most, Color: Any Color Available

Brand & Item # of Bandana

Min. Order * YES NO
Does product meet the specifications?

Item #51: Safety Headgear		Will be awarded together (39 – 51)				
Chill-its 6615 / Terry Cloth Sweatband / Tie Closure / Hard Hat Compatible						
DOT#	Size	Color	Brand & Part #	Quantity (estimate**)	Price / each	Total Price
	One Size	Blue		10		
				10	\$	\$
				10	\$	\$
				10	\$	\$
Any additional colors available:						
Sub-Total of Item #51			Will be awarded together (39 – 51)			NO AWARD

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

**PRINTING
PRINTING IS NOT INCLUDED IN THE AWARD PRICE EVALUATION
BUT WILL BE A PART OF THE CONTRACT!**

**PRINTING MUST BE AVAILABLE FROM VENDOR BIDDING AND
MUST BE AVAILABLE FOR ALL ITEMS EXCEPT WERE STATED AND MUST
BE IN HOUSE ONLY, NO SUBCONTRACTORS.**

PRINTING	VESTS	SHIRTS	RAIN GEAR	CAPS	JACKET	FLEECE JACKET
FRONT 1 color	6.98	6.98	6.98	6.98	6.98	6.98
FRONT multi-color	6.98	6.98	6.98	6.98	6.98	6.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
BACK 1 color	6.98	6.98	6.98	6.98	6.98	6.98
BACK multi-color	6.98	6.98	6.98	6.98	6.98	6.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
Maximum # of colors allowed per design (front or back):						

This Table is for any printing area that was not covered						
PRINTING						
FRONT 1 color	8.98	8.98	8.98	8.98	8.98	8.98
FRONT multi-color	8.98	8.98	8.98	8.98	8.98	8.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
BACK 1 color	8.98	8.98	8.98	8.98	8.98	8.98
BACK multi-color	8.98	8.98	8.98	8.98	8.98	8.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
Maximum # of colors allowed per design (front or back):						

BID #: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

EMBROIDERY
EMBROIDERY IS NOT INCLUDED IN THE AWARD PRICE EVALUATION
BUT WILL BE A PART OF THE CONTRACT!

EMBROIDERY MUST BE AVAILABLE FROM VENDOR BIDDING AND
MUST BE AVAILABLE FOR ALL ITEMS EXCEPT WERE STATED AND MUST
BE IN HOUSE ONLY, NO SUBCONTRACTORS.

EMBROIDERY	VESTS	SHIRTS	RAIN GEAR	CAPS	JACKET	FLEECE JACKET
FRONT 1 color	8.98	8.98	8.98	8.98	8.98	8.98
FRONT multi-color	8.98	8.98	8.98	8.98	8.98	8.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
BACK 1 color	8.98	8.98	8.98	8.98	8.98	8.98
BACK multi-color	8.98	8.98	8.98	8.98	8.98	8.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
Maximum # of colors allowed per design (front or back):						

This Table is for any printing area that was not covered						
EMBROIDERY						
FRONT 1 color	8.98	8.98	8.98	8.98	8.98	8.98
FRONT multi-color	8.98	8.98	8.98	8.98	8.98	8.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
BACK 1 color	8.98	8.98	8.98	8.98	8.98	8.98
BACK multi-color	8.98	8.98	8.98	8.98	8.98	8.98
Maximum # of colors for above item prices:						
Users will need to contact the vendor for prices on additional colors not included in price listed above.						
Maximum # of colors allowed per design (front or back):						

BID SHEET (56 of 56)

BID#: DOT-ITB-26-9003-DG

FOB: FDOT Warehouses throughout Florida

Bid Title: High Visibility & Safety Apparel

DELIVERY: Delivery will be made within 3 0 days after receipt of Purchase Order.

Is this product available with recycled content? _____ Yes X No

If yes, please send information separate from this Invitation to Bid (See Recycled Material Special Condition)

RENEWAL: see Introduction Section #7.

THE UNIT PRICE(s) WILL APPLY TO THE INTIAL TERM AND ANY RENEWAL PERIODS.

MFMP Transaction Fee:

All payment(s) to the vendor resulting from this competitive solicitation **WILL** be subject to the MFMP Transaction Fee in accordance with the attached Form PUR 1000 General Contract Condition #7d .The Transaction Fees imposed shall be based upon the date of issuance of the payment.

NOTE: In submitting a response, the bidder acknowledges they have read and agree to the solicitation terms and conditions and their submission is made in conformance with those terms and conditions.

ACKNOWLEDGEMENT: I certify that I have read and agree to abide by all terms and conditions of this solicitation and that I am authorized to sign for the bidder. I certify that the response submitted is made in conformance with all requirements of the solicitation.

Bidder: _____ FEID# _____

Address: _____ City, State, Zip: _____

Phone: _____ E-mail: _____

Authorized Signature: _____ Date: _____

Printed/Typed: _____ Title: _____

ORDERING INSTRUCTIONS

Contract No: CR1325

Bid Number: DOT-ITB-26-9003-DG

Title: High Visibility & Safety Apparel

NOTE: ALL ORDERS SHOULD BE DIRECTED TO:

FEDERAL EMPLOYER IDENTIFICATION NUMBER (FEID): 20-2894729

VENDOR: Florida Gun Center of Broward

ADDRESS: 1400 NW 82nd Ave

CITY, STATE, ZIP: Miami Lakes, Fl. 33016

TELEPHONE: (305) 575-2744

TOLL FREE NO: _____

DELIVERY: DELIVERY WILL BE MADE WITHIN 30 DAYS AFTER RECEIPT OF PURCHASE ORDER.

PRODUCT INFORMATION: DIRECT QUESTIONS TO:

NAME & TITLE: Marlene Silva

ADDRESS: 1400 NW 82nd Ave

CITY, STATE, ZIP: Miami Lakes, Fl. 33016

TELEPHONE: (305) 575-2774

TOLL FREE NO.: : _____

E-MAIL ADDRESS: msilva@andyspolicesupply.com

WEB ADDRESS: andypolicesupply.com

INTRODUCTION SECTION

1) INVITATION

The purpose of this Invitation to Bid is to obtain competitive bids to establish a three (3) year contract for the purchase of High Visibility & Safety Apparel by the Department of Transportation, hereafter referred to as the "Department". The contract will become effective on the date the successful bidder(s) is approved for award and will expire three (3) years from that date. After the award, said bidder(s) will be referred to as the "Vendor(s)".

All commodities identified in this Invitation to Bid will be subject to the availability of identical commodities as provided by mandatory Department of Management Services' State Contract(s) at such time these commodities become available. In the event of duplication(s) of commodities, the Department of Management Services' mandatory State Contract shall prevail.

2) TIMELINE

Provided below is a list of critical dates and actions. These dates are subject to change. Notices of changes (Addenda) will be posted on the Florida Vendor Information Portal at <https://vendor.myfloridamarketplace.com/> (click on "Search Advertisements") under this bid number. It is the responsibility of all potential bidders to monitor this site for any changing information prior to submitting your bid.

<u>ACTION / LOCATION</u>	<u>DATE</u>	<u>LOCAL TIME</u>
DEADLINE FOR TECHNICAL QUESTIONS - (There is no deadline for administrative questions)	12.18.2025	5:00 PM EST
BIDS DUE (ON OR BEFORE) - Florida Department of Transportation Central Procurement Office Attn: Destyne Grayson Phone: (850) 414.4253 CO.Purch@dot.state.fl.us	01.12.2026	9:00 AM EST
PUBLIC OPENING - Florida Department of Transportation Central Procurement Office Attn: Destyne Grayson 605 Suwannee St. MS20 Tallahassee, FL. 32399-0450	01.12.2026	10:00 AM EST
POSTING OF INTENDED DECISION/AWARD -	01.15.2026	

3) BID OPENING AGENDA

The sealed bids will be opened by the Department's Procurement Office personnel at the date, time and location in the Timeline. All bid openings are open to the public and will be conducted according to the following agenda:

Opening remarks – Approximate time of 2 minutes by Department Procurement Office personnel.

Public input period –To allow a maximum of 15 minutes total for public input related to the bid solicitation.

Bids opened – At conclusion of public input or 15 minutes, whichever occurs first, bids received timely will be opened with bidder's name and prices to be read aloud.

Adjourn - After all bids received timely have been opened, the meeting will be adjourned.

4) SPECIAL ACCOMMODATIONS

Any person with a qualified disability requiring special accommodations at a pre-bid conference, public meeting, and/or opening shall contact the contact person at the phone number, e-mail address provided on the title page at least five (5) working days prior to the event. If you are hearing or speech impaired, please contact this office by using the Florida Relay Services which can be reached at 1 (800) 955-8771 (TDD).

5) CONTRACT USE

Use of the contract resulting from this bid will be optional for the Department. The Department reserves the right to solicit separate bids for any unusual or abnormal quantity requirements that may arise during the term of the contract.

6) ESTIMATED PURCHASES

It is anticipated that the Department will purchase approximately \$160,000.00 under any contract resulting from this bid. This estimated amount is given only as a guideline for preparing your bid and should not be construed as representing an actual amount to be purchased under this contract. The Vendor(s) shall supply, at bid prices, the actual amounts ordered regardless of whether the total of such amounts is more or less than anticipated. This bid and the resulting contract will be subject to annual appropriated funding.

7) RENEWAL

Upon mutual agreement, the Department and the Contract Vendor may renew the contract for a period that may not exceed 3 years or the term of the original contract, whichever is longer. The renewal must be in writing and signed by both parties, and is subject to the same terms and conditions set forth in the initial contract and any written amendments signed by the parties. Any renewal shall specify the renewal price, as set forth in the solicitation response except that an agency may negotiate lower pricing. Renewal is contingent upon satisfactory performance evaluations and subject to the availability of funds.

SPECIAL CONDITIONS

1) MyFloridaMarketPlace

BIDDERS MUST BE ACTIVELY REGISTERED IN THE STATE OF FLORIDAS MYFLORIDAMARKETPLACE SYSTEM BY THE TIME AND DATE OF THE BID OPENING OR THEY MAY BE CONSIDERED NON-RESPONSIVE (see Special Condition 20). All prospective bidders that are not registered should go to <https://vendor.myfloridamarketplace.com/> to complete on-line registration, or call 1-866-352-3776 for assisted registration.

All payment(s) to the vendor resulting from this competitive solicitation **WILL** be subject to the MFMP Transaction Fee in accordance with the referenced Form PUR 1000 General Contract Condition #7d. The Transaction Fees imposed shall be based upon the date of issuance of the payment.

2) FLORIDA DEPARTMENT OF FINANCIAL SERVICES (DFS) W-9 REQUIREMENT

The Florida Department of Financial Services (DFS) requires all vendors that do business with the state to submit an electronic Substitute Form W-9. Vendors must submit their W-9 forms electronically at <https://flvendor.myfloridacfo.com> to receive payments from the state. Contact the DFS Customer Service Desk at (850) 413-5519 or FLW9@myfloridacfo.com with any questions.

3) QUESTIONS & ANSWERS

In accordance with section 287.057(25), Florida Statutes, respondents to this solicitation or persons acting on their behalf may not contact, between the release of the solicitation and the end of the 72-hour period following the agency posting the notice of intended award, excluding Saturdays, Sundays, and state holidays, any employee or officer of the executive or legislative branch concerning any aspect of this solicitation, except in writing to the procurement officer or as provided in the solicitation documents. Violation of this provision may be grounds for rejecting a response.

Any technical questions arising from this Invitation to Bid must be forwarded, in writing, to the procurement agent identified below. Questions must be received no later than the time and date reflected on the Timeline. The Department's written response to written inquiries submitted timely by bidders will be posted on the Florida Vendor Information Portal at <https://vendor.myfloridamarketplace.com/> (click on "Search Advertisements"), under this bid number. It is the responsibility of all potential bidders to monitor this site for any changing information prior to submitting their bid.

WRITTEN TECHNICAL QUESTIONS should be submitted to:

FDOT Procurement Office

Attn: Destyne Grayson

Email: CO.Purch@dot.state.fl.us

Questions regarding administrative aspects of the bid process should be directed to the Procurement Agent in writing at the address above or by phone: (850) 414.4253

4) ORAL INSTRUCTIONS / CHANGES TO THE INVITATION TO BID (ADDENDA)

No negotiations, decisions, or actions will be initiated or executed by a bidder as a result of any oral discussions with a State employee. Only those communications which are in writing from the Department will be considered as a duly authorized expression on behalf of the Department.

Notices of changes (Addenda) will be posted on the Florida Vendor Information Portal at <https://vendor.myfloridamarketplace.com/> (click on "Search Advertisements") under this bid number. It is the responsibility of all potential bidders to monitor this site for any changing information prior to submitting your bid. All Addenda will be acknowledged by signature and subsequent submission of Addenda with bid when so stated in the Addenda.

5) PRICES/DELIVERY

Prices shall be firm, net, delivered prices, F.O.B. destination.

Delivery must be made within thirty (30) calendar days or less upon receipt of a purchase order by the contract vendor at their designated ordering location. If more time is needed, the bidder should state the extra time required and the reasons why, in their bid response. Acceptance will be subject to the Department's approval.

6) IN-STATE PREFERENCE FOR COMMODITY BIDS

In accordance with Section 287.084, Florida Statutes, when the lowest responsible and responsive bid is submitted by a vendor whose principal place of business is located outside the state of Florida, a 5% price preference shall be awarded to the lowest responsible and responsive vendor whose principal place of business is located in the state of Florida, as determined by the vendor's registration with the Florida Department of State (SunBiz), unless the state where the out-of-state vendor is located provides a price preference for businesses having a principal place of business in that state. In that case, the same price preference shall be awarded to the lowest responsible and responsive vendor whose principal place of

business is located in the state of Florida responding to this Invitation to Bid (ITB).

All bidders **MUST** complete the attached "In-State Preference Form" and submit with their bid response. All vendors whose principal place of business is outside of Florida, as determined by the vendor's registration with the Florida Department of State (SunBiz), **must accompany any written bid, proposal, or reply documents** with a written opinion of an attorney at law licensed to practice law in that foreign state, as to the preferences, if any or none, granted by the law of that state to its own business entities whose principal places of business are in that foreign state in the letting of any or all public contracts. Failure to submit the "In-State Preference Form AND written opinion will result in the vendor being found non-responsive.

For the 5% preference, the Department will apply 5% to the bid price(s) of the lowest out of state vendor whose state does not grant a preference if that vendor has submitted the lowest responsible and responsive bid. The "In-State Preference" does not apply to transportation projects that use federal funds.

7) INTENDED AWARD

As the best interest of the State may require, the right is reserved to make award(s) by individual item, group of items, all or none, or a combination thereof: on a geographical district basis and / or on a statewide basis with one or more suppliers to reject any and all bids or waive any minor irregularity or technicality in bids received. When it is determined there is competition to the lowest responsible bidder, evaluation of other bids is not required. Bidders are cautioned to make no assumptions, unless their bid has been evaluated as being responsive. All awards made as a result of this bid shall conform to applicable Florida Statute. In the event the Department receives identical pricing or scoring from multiple vendors that would tie the awarded vendor; the Department may, at its discretion, award to all responsive tied vendors or reject all.

8) PRE-BID CONFERENCE

A PRE-BID CONFERENCE WILL NOT BE HELD.

9) ALTERNATES

Alternate brands will be considered for this bid. The "Department" reserves the right to require each bidder to demonstrate to the satisfaction of the "Department" that the items/materials will perform in a completely acceptable manner. In the event the "Department" judges that the demonstrated performance is unsatisfactory, the "Department" may reject the bid. The bidder must be prepared to demonstrate the materials within fourteen (14) days after the bid opening date. Demonstration time and place is subject to agreement of the "Department" and the bidder.

Bidders submitting a bid that is based on an alternate brand of equipment must submit, with their bid, complete specifications and descriptive technical literature for the equipment proposed.

10) WARRANTY/SUBSTITUTIONS

A warranty is required on all items purchased against defective materials, workmanship, and failure to perform in accordance with required industry performance criteria, for a period of not less than ninety (90) days from the date of acceptance by the purchaser. Any deviation from this criteria must be documented in the bid response or the above statement shall prevail. Delivery of substitute commodities requires prior written approval from the ordering location.

11) REPLACEMENT/RESTOCKING

Replacement of all materials found defective within the warranty period shall be made without cost to the purchaser, including transportation if applicable. All fees associated with restocking cancelled orders shall be the responsibility of the vendor.

12) PRODUCT REQUIREMENTS/SPECIFICATIONS

Items furnished shall be standard products of the manufacturer or their suppliers, shall be new, unused, clean, and free from any defects or features affecting appearance, serviceability, or the safety of the user in normal intended use.

Any deviation from specifications indicated herein must be clearly pointed out; otherwise, it will be considered that items offered are in strict compliance with these specifications, and successful bidder will be held responsible therefore. Deviations must be explained in detail on separate attached sheet(s).

13) ACCEPTANCE

All items listed in the specifications, delivered to the Department not meeting specifications or found to be poorly manufactured will not be accepted, but returned to the vendor, at their expense, for replacement. Replacement of all items found defective shall be made without cost to the Department, including transportation, if applicable. As it may be impossible for each facility to inspect all items upon arrival, a reasonable opportunity must be given to these facilities for inspection of the items, and returning those that are defective.

14) REVIEW OF BIDDER'S FACILITIES & QUALIFICATIONS

After the bid due date and prior to contract execution, the Department reserves the right to perform or to have performed, an on-site review of the bidder's facilities and qualifications. This review will serve to verify data and representations submitted by the bidder and may be used to determine whether the bidder has adequate facilities, equipment, qualified and experienced staff, and overall management capabilities to provide the required items. The review may also serve to verify whether the bidder has financial capabilities adequate to meet the contract requirements.

Should the Department determine that the bid package has material misrepresentations or that the size or nature of the bidder's facilities, equipment, management capabilities, or the number of experienced personnel (including technical staff) are not adequate to ensure satisfactory contract performance, the Department has the right to reject the bid.

15) PROTEST OF INVITATION TO BID SPECIFICATIONS

Any person who is adversely affected by the contents of this Invitation to Bid must file the following with the Department of Transportation, Clerk of Agency Proceedings, Office of the General Counsel, 605 Suwannee Street, Mail Station 58, Tallahassee, Florida 32399-0450:

1. A written notice of protest within seventy-two (72) hours after the posting of the solicitation, (the notice of protest may be Faxed to 850-414-5264), and
2. A formal written protest in compliance with Section 120.57(3), Florida Statutes, within ten (10) days of the date on which the written notice of protest is filed.

Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120, Florida Statutes.

16) UNAUTHORIZED ALIENS

The employment of unauthorized aliens by any contractor is considered a violation of Section 274A(e) of the Immigration and Nationality Act. If the contractor knowingly employs unauthorized aliens, such violation shall be cause for unilateral cancellation of the contract.

17) SCRUTINIZED COMPANIES LISTS

All responses, regardless of dollar value, must include a completed Vendor Certification Regarding Scrutinized Companies Lists to certify the respondent is not on either of those lists. The Form should be submitted with the Bid Response.

Section 287.135, Florida Statutes, prohibits a company or other entity from bidding on, submitting a proposal for, or entering into or renewing a contract for goods or services of: i) \$100,000 or more if, at the time of bidding on, submitting a proposal for, or entering into or renewing such contract, the company or other entity is on the Scrutinized Companies or Other Entities that Boycott Israel List, created pursuant to Section 215.4725, Florida Statutes, or is engaged in a boycott of Israel; and, ii) \$1,000,000 or more if, at the time of bidding on, submitting a proposal for, or entering into or renewing such contract, the company or other entity is on either the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies with Activities in the Iran Terrorism Sectors List, created pursuant to Section 215.473, Florida Statutes, or is engaged in business operations in Cuba or Syria.

If the Department determines the Vendor submitted a false certification under Section 287.135, Florida Statutes, the Department shall either terminate the Contract after it has given the Vendor notice and an opportunity to demonstrate the Department's determination of false certification was in error pursuant to Section 287.135, Florida Statutes, or maintain the Contract if the conditions of Section 287.135, Florida Statutes are met.

18) RESERVATIONS

The Department reserves the right to accept or reject any or all bids received and reserves the right to make an award without further discussion of the bids submitted. Therefore, the bidder should make sure that the bid package submitted is complete and accurate and submitted to ensure delivery on or before the bid opening time and date specified in this solicitation. It is understood that the bid will become a part of the Department's official file, without obligation to the Department.

19) ADDITIONAL TERMS & CONDITIONS

No conditions may be applied to any aspect of the ITB by the bidder. Any conditions placed on any aspect of the bid documents by the bidder may result in the bid being rejected as a conditional bid (see RESPONSIVENESS OF BIDS). **DO NOT WRITE IN CHANGES ON ANY ITB SHEET.** The only recognized changes to the ITB prior to bid opening will be a written Addenda issued by the Department.

20) RESPONSIVENESS OF BIDS

Bids will not be considered if not received by the Department **on or before** the date and time specified as the due date for submission. All bids must be typed or printed in ink. A responsive bid is an offer to provide the items specified in this Invitation to Bid in accordance with all requirements of this Invitation to Bid. Bids found to be non-responsive will not be considered. Bids may be rejected if found to be irregular or not in conformance with the specifications and instructions herein contained. A bid may be found to be irregular or non-responsive by reasons that include, but are not limited to, failure to utilize or complete prescribed forms, modifying the bid specifications, submitting conditional bids or incomplete bids, submitting indefinite or ambiguous bids, or executing forms or the bid sheet with improper and/or undated signatures. Other conditions which may cause rejection of bids include, evidence of collusion among bidders, obvious lack of experience or expertise to provide the required items, and failure to perform or meet financial obligations on previous contracts. ALL determinations of responsiveness will be the responsibility of the FDOT Procurement Office.

21) REQUIRED DOCUMENTS

The bidder must use the attached Bid Sheet to submit its bid. The Bid Sheet must be signed and dated in ink by a representative who is authorized to contractually bind the bidder. All bid sheets and other documentation submitted in response to this solicitation must be executed and submitted in accordance with Special Conditions 24.

22) COPYRIGHTED MATERIAL

Copyrighted material will be accepted as part of a bid only if accompanied by a waiver that will allow the Department to make paper and electronic copies necessary for the use of Department staff and agents. It is noted that copyrighted material is not exempt from the Public Records Law, Chapter 119, Florida Statutes. Therefore, such material will be subject to viewing by the public, but copies of the material will not be provided to the public.

23) ATTACHMENT TO ITB SUBMITTAL - CONFIDENTIAL MATERIAL

The Bidder must include any materials it asserts to be exempted from public disclosure under Chapter 119, Florida Statutes, in a separate e-mail labeled "Attachment to Invitation to Bid, Number DOT-ITB-26-9003- DG - Confidential Material". The Bidder must identify the specific Statute that authorizes exemption from the Public Records Law. Any claim of confidentiality on materials the Bidder asserts to be exempt from public disclosure and placed elsewhere in the bid will be considered waived by the Bidder upon submission, effective after opening.

24) ELECTRONIC SUBMISSION OF BIDS:

Please follow the below instructions for the submittal of electronic bids, failure to do so, may result in your bid being found non-responsive. Non-responsive replies will not be evaluated.

- a) Subject line must show: DOT-ITB-26-9003-DG
- b) Email shall contain one file attachment marked as the following: DOT-ITB-26-9003-DG Bid Submittal
- c) Documents shall be submitted in portable document format (PDF) and have a size limit of 25MB.
- d) The body of the email shall not contain any information
- e) Documents shall not be submitted in a ZIP (.zip) file
- f) Bids shall be submitted to: CO.Purch@dot.state.fl.us

It is the bidder's responsibility to assure that the bid is delivered to the proper place **on or before** the Bid Due date and time (See Introduction Section 2 Timeline). Bids which for any reason are not so delivered, will not be considered.

25) MODIFICATIONS, RESUBMITTAL AND WITHDRAWAL

Bidders may modify submitted bids at any time prior to the bid due date. Requests for modification of a submitted bid shall be in writing and must be signed by an authorized signatory of the bidder. Upon receipt and acceptance of such a request, the entire bid will not be considered unless resubmitted by the due date and time. Bidders may also send a change in a separate email to be opened at the same time as the bid.

26) POSTING OF INTENDED DECISION/AWARD

26.1 - General:

The Department's decision will be posted on the Florida Vendor Information Portal at <https://vendor.myfloridamarketplace.com/>, on the date in the Timeline, and will remain posted for a period of

seventy-two (72) hours. Any bidder who is adversely affected by the Department's recommended award or intended decision must file the following with the Department of Transportation, Clerk of Agency Proceedings, Office of the General Counsel, 605 Suwannee Street, Mail Station 58, Tallahassee, Florida 32399-0450:

1. A written notice of protest within seventy-two (72) hours after posting of the Intended Award, (the notice of protest may be Faxed to 850-414-5264), and
2. A formal written protest and protest bond in compliance with Section 120.57(3), Florida Statutes, within ten (10) days of the date on which the written notice of protest is filed. At the time of filing the formal written protest, a bond (a cashier's check or money order may be accepted) payable to the Department must also be submitted in an amount equal to one percent (1%) of the estimated contract amount based on the contract price submitted by the protestor.

Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120, Florida Statutes.

26.2 - Inability to Post:

If the Department is unable to post as defined above, the Department will notify all bidders by electronic notification on the Florida Vendor Information Portal (see special condition 26.1, above) and/or telephone. The Department will provide notification of any future posting in a timely manner.

26.3 - Request to Withdraw Bid:

Requests for withdrawal will be considered if received by the Department, in writing, within seventy-two (72) hours after the bid opening time and date. Requests received in accordance with this provision will be granted by the Department upon proof of the impossibility to perform based upon obvious error on the part of the bidder. Bidders that do not withdraw as stated above will forfeit their bid bond, if applicable.

27) RECYCLED MATERIAL

The Department encourages the use of products and materials with recycled content and post-consumer recovered materials. If the item(s) specified in the Technical Specification is available with recycled content, we request that you provide product information to help in our search for recycled products. However, this bid request is for the product as specified herein and does not require prices for recycled product. This information should be sent as part of your bid response or may be sent separately.

28) PRICE ADJUSTMENTS

Price(s) shall remain firm for the life of the contract. Price adjustments will not be allowed.

29) DELIVERY LOCATION(S)

The primary point of delivery for this contract will be FDOT Warehouses, but bid prices will include delivery to other locations, throughout the State of Florida.

30) CANCELLATION

All contract obligations shall prevail for at least one hundred and eighty (180) days after the effective date of the contract. For the protection of both parties, this contract may be cancelled in whole or in part after one hundred and eighty (180) days by either party giving thirty (30) days prior written notice to the other contract party. The contract may, also, be cancelled by the Department for nonperformance (default).

31) ORDERING INSTRUCTIONS

Manufacturers are encouraged to bid direct naming dealers who will accept orders and complete deliveries. Bidders must include complete ordering instructions, including FEDERAL EMPLOYER IDENTIFICATION NUMBER (FEID), for invoicing dealers, with the bid on a separate sheet.

32) ORDER QUANTITIES

The Department will, at its discretion, place orders with the Vendor(s) for various quantities of the items, as needed, during the contract period. Bidders are encouraged to identify the standard packaging quantity and minimum order quantity acceptable for each item or group of items bid. Excessive minimum order quantities will not be accepted.

33) OPEN PURCHASE ORDERS

The Department may, at its discretion, establish an open (estimated quantity) purchase order with the contract vendor(s) to facilitate the purchasing of materials. The purchase of materials may be placed by; (1) written purchase order, (2) telephone orders by authorized Department personnel, or (3) an itemized order in writing. The Department will supply the contract vendor(s) with a list of personnel authorized to order. Delivery of items on these open purchase orders shall not exceed the contract effective period.

34) INVOICING

Invoices must match units specified on the Purchase Order.

35) FORMS

The Bidder must complete all required items below and submit them as part of the Bid package. Any Bid in which these forms are not used or in which these forms are improperly executed may be considered non-responsive and the bid may be subject to rejection.

Bid Sheet

In-State Preference

Vendor Certification Regarding Scrutinized Companies Lists (Form 375-030-60)

Ordering Instructions

E-Verify Form

36) TERMS AND CONDITIONS

36.1 General Contract Conditions (PUR 1000)

The State of Florida's General Contract Conditions are outlined in form PUR 1000, which is a downloadable document incorporated into this Invitation to Bid (ITB) by reference. Any terms and conditions set forth in this ITB document will take precedence over the PUR 1000 form where applicable.

[PUR1000 General Contract Conditions](#)

The following paragraphs do not apply to this Invitation to Bid:

Paragraph 8(a), Dispute Resolution - PUR 1000

Paragraph 5(l), PRIDE – PUR 1000, when federal funds are utilized.

36.2 General Instructions to Respondents (PUR 1001)

The State of Florida's General Instructions to Respondents are outlined in form PUR 1001, which is a downloadable document incorporated into this Invitation to Bid (ITB) by reference. Any terms and conditions set forth in this ITB document take precedence over the PUR 1001 form where applicable.

<http://www.dms.myflorida.com/content/download/2934/11780/1001.pdf>

The following paragraphs do not apply to this Invitation to Bid:

Paragraph 3, Electronic Submission – PUR 1001

Paragraph 4, Terms and Conditions – PUR 1001

Paragraph 5, Questions – PUR 1001

36.3 MFMP Purchase Order Terms and Conditions

All MFMP Purchase Order contracts resulting from this solicitation will include the terms and conditions of this solicitation and the State of Florida's standardized Purchase Order Terms and Conditions, which can be found at the Department of Management Services website at the following link:

https://www.dms.myflorida.com/business_operations/state_purchasing/myfloridamarketplace/mfmp_agency_customers/po_terms_conditions

Section 8(B), PRIDE, is not applicable when using federal funds.

37) ORDER OF PRECEDENCE

All responses are subject to the terms and conditions of this solicitation, which, in case of conflict, shall have the following order of precedence listed:

Special Conditions

Technical Specifications

Bid Sheet

FDOT Purchase Order Terms and Conditions

MFMP Purchase Order Terms and Conditions – Section 8(B), PRIDE, is not applicable when using federal funds.

General Instructions to Respondents (PUR 1001)

General Contract Conditions (PUR 1000)

Introduction Section

38) ANTITRUST VIOLATOR VENDOR LIST

Pursuant to Section 287.137(2)(a), Florida Statutes, a person or an affiliate who has been placed on the antitrust violator vendor list following a conviction or being held civilly liable for an antitrust violation may not submit a bid, proposal, or reply for any new contract to provide any goods or services to a public entity; may not submit a bid, proposal, or reply for a new contract with a public entity for the construction or repair of a public building or public work; may not submit a bid, proposal, or reply on new leases of real property to a public entity; may not be awarded or perform work as a contractor, supplier, subcontractor, or consultant under a new contract with a public entity; and may not transact new business with a public entity.

39) PROHIBITION AGAINST CONSIDERING SOCIAL, POLITICAL, OR IDEOLOGICAL INTERESTS IN GOVERNMENT CONTRACTING

Pursuant to Section 287.05701, Florida Statutes, an awarding body may not request documentation of or consider a vendor's social, political, or ideological interests when determining if the vendor is a responsible vendor, and an awarding body may not give preference to a vendor based on the vendor's social, political, or ideological interest.

40) CONTRACTING WITH ENTITIES OF FOREIGN COUNTRIES OF CONCERN PROHIBITED

The Proposer must submit, with its Proposal, a completed Foreign Country of Concern Attestation (PUR 1355) (Form 6). Form 6 must be completed by an officer or representative of the Bidder on behalf of the Bidder.

41) AFFIDAVIT REGARDING LABOR AND SERVICES

Prior to contract execution, extension or renewal, the Department shall notify the Contract awardee of the need to download, complete, and submit the FDOT form, Affidavit Regarding Labor and Services, No. 375-030-31. Please have the form signed and notarized and send a scanned copy to the Department. The nongovernmental entity (Contract awardee) must maintain the original copy in accordance with other provisions of this Agreement or Contract, and in accordance with Florida law.

42) SAMPLES & TESTING

Samples should not be sent in with the bid but shall be submitted by the proposed awarded vendor within two (2) weeks after notification. Samples shall be sent to the address provided to the awarded vendor to be tested for compliance with the bid specifications. Failure to provide these samples within this time period or the submission of samples not meeting the exact specifications shall be cause for rejection and the next lowest bidder contacted. Samples must be submitted at no additional cost to the Department and will be retained for use as quality assurance standards and as models for acceptance inspection.